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HHPEAUCJIOBHUE

CoBpeMeHHbII1 MUp, OOLIECTBO CTPEMHUTEIBHO MEHSIOTCS, U B COOTBETCTBHUE C
tpedoBanusiMu GI'OC BO Tperbero mHOKOJIEHHSA aKTyalbHOM 3aJladyeil BBICIIErO
npodeccuoHanbHOTO 00pa30BaHUsl CTAHOBUTCS MOMCK MHHOBAIMOHHBIX CPEACTB U
METO0/10B (POpMUPOBAHMS TBOPUYECKOHN MOJUKYIBTYPHOUN JIMYHOCTH.

Henpto mucuuruHbl «MHOCTpaHHBIA S3bIK» B arpapHOM BYy3€ SIBIISETCS
dbopMHpOBaHHE CIOCOOHOCTH U TOTOBHOCTH CTYJIEHTOB OCYUIIECTBISATH B pEaIbHOMN
JNEHUCTBUTEIBHOCTH HMHOSA3BIYHOE MEXIMYHOCTHOE M MEXKYJIbTYPHOE OOIIEHHE C
HOCHUTEJISIMH SI3bIKa C 1eIbI0 00MeHa MpodeCCHOHATBHO 3HAYMMOU HH(pOpMaIieH.

Y4eOHoe mocobue COCTaBICHO B COOTBETCTBHUH C TpeOoBaHUAMEU DeiepanibHOro
rocyJIapCTBEHHOTO 00pa3oBaTeIbHOTO cTaHAapTa Bhiciiero oopazoanus (PI'OC BO)
no HampapieHuto noaAroToBku 35.03.06 ArpoumkeHepus npodguib TexXHUUYECKH
cepuc B AIIK mnpukazom MunucrepcrBa oOpa3zoBanus U Hayku Poccuiickoi
®epnepanuu ot 23 aBrycra 2017 r., Ne 813 u IIpumepnoii nporpammoil « IHOCTpaHHbBIN
A3BIK», YTBEPKIEHHON MunucrepctBoM odpazoBanusi PO (2009).

Yyebnoe mocobme coctouT u3 10 ypokoB, BKIIOYAOMIMX 3afaHUS IS
ayIUTOPHOM W CaMOCTOSTENIbHOW paboThl. BOJBIIMHCTBO 3aJaHU  COAEPIKHUT
JOTIOJIHUTENIbHBIM  TO3HABATEJIbHBIM MaTepual W3 Pa3JIUYHBIX OPUTHHAIBHBIX
MCTOYHUKOB B COKpAIIEHHOM, HO HE aJalTUPOBAHHOM BapuaHTe 0€3 HapylIeHUs
OCOOEHHOCTEeW CTHIJIA sI3bIKa HAayYHO-TEXHHUYECKOW CTaThbu. [ paMMaThyecKuii
MaTepuas, KOTOpbhI HEOOXOAUMO MpopabdoTaTh, TMPEACTABICH B  KPAaTKOM
IrpaMMaTHYE€CKOM CIIPABOYHUKE.

Yérkass MOCIeN0BaTEIbHOCTh BBIMNOJHEHUS 3aJaHUM MO3BOJIUT CTyAEHTam
OBJIAJETh TEPMUHOJIOTUEH HAIpPaBJICHUs] TTOATOTOBKH, TPUOOPECTU HABBIKU BEJCHUS
Oecenbl U MEPEroBOPOB, COCTaBJIEHUS pe3tome, aHHoTauuil. [locobue nmpeanazHayeHo
JUTSL ayJUTOPHOW paboOThl M MOXKET OBITh HCIIONB30BAHO JMJII CAMOCTOSTEIHHOM
NOJATOTOBKH CTYJIEHTOB.

Jlannoe yueOGHOe mocobue Oyner cmocoOcTBoBaTh (popmupoBanuio YK- 4-
CIOCOOEH OCYHIECTBIIATH JEI0BYI0 KOMMYHHUKALIMIO B YCTHOM U MUCbMEHHOU (popmax
Ha rocyJapcTBeHHOM si3bike Poccuiickoit @enepaninu 1 MHOCTPAHHOM(BIX) SI3bIKE (aX).



Unit1

Automobile Production

I study at the Bryansk State Agrarian University, at the Engineering Institute.
When I graduate from the university I shall become an engineer. All specialists in
automobile industry dealing with manufacturing automobiles (cars or trucks) must
know that the production of the automobile comprises the following phases: designing;
working out the technology of manufacturing processes; laboratory tests; road tests;
mass manufacturing (production).

Why is it necessary to know all these facts? It is important to know them, as
before the automobile is put into mass production it should be properly designed and
the car must meet up-to-date requirements. What are these requirements?

The automobile must have high efficiency, long service life, driving safety, ease
of handling and maintenance, pleasant appearance. Also it must be comfortable and
ecological. In order to obtain these qualities the specialists should develop up-to-date
methods of designing cars using new types of resistant to corrosion light materials.
Also it 1s important to know computer sciences because computers offer quick and
optimal solutions of the problems. Besides they are used for better operation of
mechanisms in cars.

Before the car is put into mass production the units of the car are subjected to
tests in the Works laboratory and then the car undergoes a rigid quality control in road
tests. Why are these tests required? What qualities are required of the automobile? They
are needed because the modern automobile must be rapid in acceleration, have smooth
acting clutch, silent gearbox, dependable braking and steering systems, dependable
ignition system, low fuel consumption and be stable on the road.

1. Read the text, write down the underlined words, transcribe and
pronounce them correctly. Study the words.

2. Find predicates in all sentences and define their tense and voice.

3. Find out the approximate meanings of the following English words by
comparing them to the corresponding Russian ones.

Specialist, automobile, industry, production, phase, technology, process, test,
mass, fact, service, comfortable, ecological, method, type, corrosion, material, optimal,
problem, mechanism, control, system

4. Give derivatives.
To construct, to produce, to design, to develop, to manufacture, to require, to
maintain, to consume

5. Give synonyms.
A great deal, to promote, to replace, earth, to suppose, boat, to solve, to design,
to supply, invention

6. Give antonyms.
Complicated, to remain, to destroy, huge, shallow, gradually, repair, the same,
wide, strength



7. Suggest the Russian equivalents.

Low fuel consumption, to deal with designing cars, mass production, long service
life, driving safety, to work out, ease of maintenance, the technology of manufacturing
processes, to put into mass production, to subject to tests, a rigid quality control, to meet
up-to-date demands, rapid acceleration, smooth-acting clutch, silent gearbox, dependable
brakes, steering system, ignition system.

8. Find in the text English equivalents close in meaning to the following.

Ydych B MH)KEHEPHOM WHCTUTYTE, MHKEHEp, 000 paboTaTh ¢ MallMHAMH,
COBpeMeHHblf/'I aBTOMO6I/IJIB, HaIACKHBIC TOPMO3a, INIABHOC CHCIJICHHC, HpHSITHBIfI
BHCITHUU BHA, MACCOBOC IIPOU3BOJACTBO aBTOM06HHCfI, CTCHAOBBIC HCIIbITAHMA,
OTBCUAaThb COBPCMCHHBIM Tp€6OBaHI/I$IM, I[OJIFI/Iﬁ CpOK CJ'Iy>K6BI, JICTKOCTb
TEeXOOCIy)XKMBaHHs,  HAAEKHOCTb,  OBICTPO  Pa3TOHATHCS  (MPUEMHUCTOCTH),
MOoABCPIraThbCs KECCTKUM JOPOKHBIM UCIIBITAHUAM.

9. Translate into Russian.

1. After graduating from the university | shall become a engineer.

2. | shall deal with repairing cars but | must know how cars are produced.

3. The production of the automobile comprises five phases, such as: designing,
working out the technology of manufacturing processes, laboratory tests, road tests,
mass production.

4. The automobile of today must have high efficiency, long service life, driving
safety, ease of maintenance and be stable on the road.

5. The automobile must meet up-to-date demands, that is, it must have rapid
acceleration, smooth-acting clutch, silent gearbox, dependable braking and steering
systems, dependable ignition system.

6. Before the car is put into mass-production it must be subjected to laboratory
and road tests.

7. Technicians should know the technology of manufacturing processes.

10. Complete the sentences using the words and expressions from the text.
1. An automobile specialist deals with ....

2. The production of the automobile comprises ....

3. The cars are subjected to tests in order ....

4. The qualities required of the automobile are ....

11. Translate into English.

1. A yuyce B nHkeHEpHOM MHCTUTYTE BI'AY.

2. Tlocnie okOHYaHMSI YHUBEPCUTETA S CTAaHY UHXKEHEPOM.

3. ITo MoeMy MHEHUIO, KaX/IbIi CHEIUATUCT JOHKEH 3HATh, YTO aBTOMOOWIIH
JTOJDKEH MPOUTH CTEHJIOBBIC U JIOPOXKHBIE UCTIBITAHUS.

4. DTH UCIBITaHUSI HEOOXOIMMBI, YTOOBI AaBTOMOOMIIb OTBEYAJ COBPEMEHHBIM
TpeOOBAHUSIM.

5. CoBpeMEHHBI aBTOMOOWJIb JOJDKEH 00J1aJaTh CICAYIOINIMMHU KaueCTBAMU:
OBITh MPUEMHCTHIM, UMETh IUIABHOE CIEIJICHUE, OCCIIYMHYIO KOPOOKY Iepesad,
HaJIeKHbIE TOPMO3HYIO U PYJIEBYIO CUCTEMBbI, OBITh JISTKUM B YIIPABJICHUH.

6. JIBurarenb aBTOMOOMIIS TAKKE IOJIKEH UMETh HEOOJIBIIION PacXo/l TOIUIUBA U
OBITh YKOJIOTHYSCKH YUCTHIM.



12. Are these statements true or false?

1. I study at the university, at the Engineering Institute.

2. The engineering institute trains specialists for the agriculture.

3. The production of the automobile comprises three phases.

4. The automobile must have rapid acceleration.

5. Technicians shouldn’t know the technology of manufacturing processes.

6. The car undergoes a rigid quality control only in laboratory tests.

7. To meet up-to-date demands a car must have high efficiency, long service life,
driving safety, ease of maintenance and so on.

13. Read the text again and ask as many questions about it as you can. Let
your group-mate(s) answer the questions.

14. Translate the text from English into Russian.
15. Write an essay of the text and render it in English.

16. Read the dialogue and act it out.

Anton: Hi, how are you?

Boris: Fine, thanks. And you?

A: I’'m O.K., thank you. Where do you study?

B: I study at the engineering institute.

A.: Whom does the institute train?

B.: It trains specialists for the agriculture.

A.: Why did you decide to become an engineer?

B.: | enjoy working with machines. | enjoy learning about a car. | understand
every part of it.

A.: What can you tell me about the car?

B.: Well, the car of today must be rapid in acceleration, it must have dependable
clutch, brakes, and steering system, be stable on the road and have pleasant appearance.

A.: Do you enjoy the course?

B.: Yes, very much. | have learned a lot of things. For example, | know that the
production of the car comprises five phases.

A.: What are they?

B.: They are designing, working out the technology, laboratory tests, road tests,
mass production.

A.: And why are laboratory and road tests needed?

B.: The cars are subjected to tests in order to meet up-to-date demands.

A.: And what are these demands?

B.: They are high efficiency, long service life, driving safety, ease of
maintenance and so on.

A.: | think you will become an expert in automobile engineering.

B.: I'll try. The cooperative plan of an academic program with practice at a plant
will help me to become a good specialist. But I’'m sorry, I must hurry. See you later.
Bye.

A.: Bye-bye.

17. Reproduce the dialogue in the reported speech.



Check up yourself

1. Complete the following table.

construction
pacxo TOIIMBA
design
YAOBJICTBOPATDH
TpeOOBaHUS
clutch
BBOAWTH B IIPOU3BOJACTBO
ignition
CPOK CITY>KOBI

. Complete the sentences.

. The production of the car comprises ... .

. The car of today must be ... .

. The cars are subjected to tests in order to ... .

. The up-to-date demands are ... .

. Before the automobile is put into mass production ...
. All specialists in automobile industry deal with ... .
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. Write down the sentences in Passive Voice.
. The first practical international combustion engine was introduced in the form
of a gas engine by the German engineer N. Otto in 1876.

2. Motor transport began to spread in Europe very rapidly.

3. The American manufacturer who introduced the first cheap motor car was
Henry Ford.

4. Motor cycles were well suited for competition races and sporting events.

W

4. Write down the sentences in Acive Voice.

1. In the West the first steam engine carriage was invented in France.

2. A locomotive could run eighteen kilometres an hour and carry passengers
cheaper than horses did.

3. At the very time when foreign engineers were submitting their plans, in the
Urals a steam locomotive was actually in use.

4. Light two-wheel carriages were widely used in the ancient world.

Unit 2

Components of the Automobile

The automobile is made up of three basic parts: the power plant, or the engine,
the chassis and the body.

The engine is the source of power that makes the wheels rotate and the car move.
It includes fuel, cooling, lubricating and electric systems. Most automobile engines
have six or eight cylinders.

The chassis includes a power train (power transmission), a running gear, steering
and braking systems as well.




The power train carries the power from the engine to the car wheels.

The power transmission, in turn, contains the clutch, gearbox, propeller or cardan
shaft, final drive, differential, rear axle and axle shafts. The running gear consists of a
frame with axles, wheels and springs.

The body has a hood, fenders and accessories: the heater, stereo tape recorder,
windshield wipers, conditioner, speedometer and so on.

1. Read the text, write down the underlined words, transcribe and
pronounce them correctly. Study the words.

2. Find predicates in all sentences and define their tense and voice.

3. Find out the approximate meanings of the following English words by
comparing them to the corresponding Russian ones.

Automobile, chassis, electric, system, control, differential, ventilator, cylinder,
conditioner, speedometer.

4. Give derivatives.
To cool, to lubricate, to drive, to heat, to place, to fly, to build, to protect

5. Give synonyms.
To complete, to take an examination, to attend a lecture, important, to receive,
to return, usually, to consist of, to leave, way

6. Give antonyms.
To repair, to load, simple, gradually, narrow, shortage, weakness, slowly, small,
the same

7. Suggest the Russian equivalents.

Fuel system, axle shaft, accessories, cooling system, frame with axles, running
gear, lubricating system, steering system, heater, propeller shaft, power transmission,
final drive, windshield wiper, clutch, wheels and axle shafts, gearbox, electric system,
differential.



8. Find in the text English equivalents close in meaning to the following.

Cnenan u3; maccw; Ky30B; BKJIIOYAaTh B ceOsl; TOTUIMBHAS, OXJIAXKTAromias,
CMa3bIBAIONIAs U AJIEKTPUUYECKAs] CUCTEMbI; TPAHCMUCCHUS; X0JI0Bas 4acTh; pyJieBas U
TOPMO3HAasl CHUCTEMBI;, KapJIaHHbIN BaI, TJIaBHAs mepenada; auddepeHuan 3aIHui
MOCT; MOJYOCH; KaroT; KPbLIbs; BCIIOMOTaTeIbHbIE YCTPONUCTBA; CTEKJIIOOYUCTUTEH.

9. Translate into Russian.

1. The automobile is made up of three basic parts.

2. The engine is the source of power that makes the wheels rotate and the car
move.

3. Most automobile engines have six or eight cylinders.

4. The body has a hood, fenders and accessories.

5. The power transmission contains the clutch, gearbox, propeller or cardan
shaft, final drive, differential, rear axle and axle shafts.

6. The power train carries the power from the engine to the car wheels.

7. The engine includes fuel, cooling, lubricating and electric systems.

10. Complete the sentences using the words and expressions from the text.
1. Mechanism which is used to stop the car ... .

2. Mechanism which is used to guide the car ... .

3. Mechanism which engages or disengages the engine and the car wheels ... .
4. Mechanism which is used to change the speed of the car ... .

5. Mechanism which is used to guide the car in one or the other directions ... .
6. Device which is designed to measure the speed of the car ... .

T

r 1. ABTOMOOMJIb COCTOMT W3 TpPEX OCHOBHBIX YacTEH: ABUTATENs, IIACCH U
HY30Ba.

n 2. JIBuraTenb — 3TO UCTOYHUK SHEPTUU.

s 3. JIBurarenb BKJIIOYAET B c€0s TOMIMBHYIO, OXJIAXAAIOIIYI0, CMa3bIBAIOIIYIO U
bnexkTpuyecKkyro CUCTEMBI.

a 4. Hlaccu BKiIOYAET B ce0si CUIIOBYIO NE€peaady, XOAOBYIO YacTh, PYJIEBYIO U
TOPMO3HYIO CUCTEMBI.

e 5. CunoBas nepegayva (TpaHCMUCCHS), B CBOIO OUY€PEb, COCTOUT U3 CLEIJICHUS,

kopoOku mepenay, kapgaHHOTO Baja, TJIaBHOM mepenaun, nuddepenimnana, 3aIHero
HOCTa U TIOJIyOCEM.
t 6. Xoa0Bas 4acTh BKJIIOYAET B CEOsl paMy C OCAMH, KOJIECA U PECCOPBI.

0
E 12. Are these statements true or false?
n 1. The automobile is made up of four basic parts.
g 2. The engine is the source of power that makes the wheels rotate and the car
move.
i 3. The power transmission contains the clutch and gearbox.
S 4. The power train carries the power from the engine to the car wheels.
h 5. Most automobile engines have three or five cylinders.

6. The chassis includes power transmission, a running gear and doesn’t include
steering and braking systems.

7. The heater, stereo tape recorder, windshield wipers, conditioner, speedometer
are accessories.



13. Read the text again and ask as many questions about it as you can. Let
your group-mate(s) answer the questions.

14. Translate the text from English into Russian.
15. Write an essay of the text and render it in English.

16. Read the dialogue and act it out.

Anton: Hi, how are you?

Boris: Fine, thanks. And you?

: 'm O.K., thank you. Where do you study?

- | study at the engineering faculty.

: Whom does the faculty train?

- It trains specialists for the agriculture.

: Why did you decide to become an engineer?

. | enjoy working with machines.

: Do you know what parts the automobile is made up of?

. Certainly. It is made up of the engine, the chassis and the body.
: What is the source of power?

.. The source of power is the engine. It includes fuel, cooling, lubricating and
electric systems.

A.. And what does the chassis consist of?

B.: It consists of a power transmission, running gear, steering and braking
systems. By the way, the power transmission, in turn, comprises the clutch, gearbox,
propeller shaft, final drive, differential, rear axle and axle shafts.

A.. And what parts does the body include?

B.: The body has a hood, fenders and accessories, such as: the heater, stereo tape
recorder, windshield wipers, conditioner and so on.

A.: Thank you very much for your information.

B.: Don't mention it. | am glad to help you.

T>E>E>E>D>

17. Reproduce the dialogue in the reported speech.
Check up yourself

1. Complete the following table.

engine

CLCIIJICHUE
fender

3aJTHUN MOCT
heater

I10JIyOCh
body

KopoOKa mepejad

10



. Complete the sentences.

. The body has ... .

. The engine includes ... .

. The chassis consist of ... .

. The power train carries ... .

. The automobile is made up ... .
. The engine is ... .

. Write down the sentences in Passive Voice.

. The word transport means to carry people or goods from place to place.
. The history of transport is divided into two stages.

. The bundles or baskets were carried by the animals on their backs.

. The trusts borrowed money for repairing and improving the roads.

A WNPFP W AN NP~ WN =N

4. Write down the sentences in Acive Voice.

1. In Britain, and also over much Europe, the first long-distance paved roads
were made by Romans.

2. The first Russian locomotive was invented and built by Cherepanovs, father
and son, both skilful mechanics and serfs.

3. The rapid development of the internal combustion engine let to use them in
the farm tractors, thereby creating a revolution in agriculture.

4. The motor cycle steadily increased in popularity and tyres became more
reliable and roads improved.

Unit 3

Principle of Operation of the Four-Stroke Petrol Engine

The internal combustion engine is called so because fuel is burned directly inside
the engine itself. Most automobile engines work on a 4-stroke cycle. A cycle is one
complete sequence of 4 strokes of the piston in the cylinder. The operating cycle of the
four-stroke petrol engine includes: inlet stroke (intake valve opens), compression
stroke (both valves closed), power stroke (both valves closed), exhaust stroke (exhaust
valve is opened).

To describe the complete cycle, let's assume that the piston is at the top of the
stroke (top dead center) and the inlet and the exhaust valves are closed.

Piston positions at dead
centers

(a) piston at TDC;
(b) piston at BDC

11



When the piston moves down the inlet valve opens to intake a charge of fuel into
the cylinder. This is called the inlet (intake) stroke. On reaching the lowest position
(bottom dead center) the piston begins to move upward into the closed upper part on
the cylinder, the inlet valve is closed and the mixture is compressed by the rising piston.
This is called the compression stroke. As the piston again reaches the top dead center
the spark plugs ignite the mixture, both valves being closed during its combustion. As
a result of burning mixtures the gases expand and great pressure makes the piston move
back down the cylinder. This stroke is called the power stroke. When the piston reaches
the bottom of its stroke, the exhaust valve is opened, pressure is released, and the piston
again rises. It lets the burnt gas flow through the exhaust valve into the atmosphere.
This is called the exhaust stroke which completes the cycle. So the piston moves in the
cylinder down (intake stroke), up (compression stroke), down (power stroke), up
(exhaust stroke).

The heat released by the fuel is transformed into work so that the reciprocating
movement of the pistons is converted into rotary movement of a crankshaft by means
of connecting rods.

Fig. 2. Principle of Operation of the Four-Stroke Petrol Engine

@\

1 - intake 2 - compresion 3 - power 4 — exhaust

1. Read the text, write down the underlined words, transcribe and
pronounce them correctly. Study the words.

2. Find predicates in all sentences and define their tense and voice.

3. Find out the approximate meanings of the following English words by
comparing them to the corresponding Russian ones.

Principle, cycle, piston, center, cylinder, atmosphere, operation, petrol,
compression, position, mixture, tank, absolutely

4. Give derivatives.
To ignite, to begin, to rotate, to compress, to move, to reciprocate, to describe

5. Give synonyms.
To wish, to grow, to need, each, to make, hard, to build, state, land, to pass an
exam

6. Give antonyms.
Always, early, free, hard, to fail, possible, to send, to return, after, to graduate

7. Suggest the Russian equivalents.

Bottom dead center, charge of fuel, connecting rod, combustion, compression
stroke, crankshaft, diesel engine, combustion chamber, exhaust stroke, four-stroke

12



cycle, ignition, pressure, internal combustion engine, fuel injection, intake (inlet)
stroke, reciprocating movement, recharge, burn

8. Find in the text English equivalents close in meaning to the following.

KrnanaH, TOmuBHBIN 0ak, 3aKOHYWIOCH TOIUIMBO, CBEYA 3a)KMTaHMs, BEPXHSISA
MEpTBasl TOYKa, cecTh (00 aKKyMyJATOpax), BpallaTeIbHOE JBUKEHHE, JOCTUTATh,
pabounii X0/, MOA3aPSAUT (AKKYMYJISATOP), OCH3UHOBBIN IBUTaTeNb, pAaOOYHI IIUKII,
LWINHADP, HWKHSAS MEpTBas TOYKa, MOJHUMAThCS, JaBJIEHUE, NpeoOpa3oBbIBATH,
rOpeTh, UCKATH (IIPOCIIEAUTH) HEUCIIPABHOCTh

9. Look at the cross-section of an engine, and label it using words and word
expressions from the text:

connecting rod

crankshaft

imder of a four-stroke internal combustion engine

10. Translate into Russian.

1. During the inlet (intake) stroke the inlet valve opens and a charge of fuel
(mixture) flows into the cylinder.

2. During the compression stroke the inlet valve is closed and the fuel is
compressed by the rising piston.

3. During the power stroke both valves are closed, pressure rises in the
combustion chamber, and the spark ignites the mixture.

4. During the exhaust stroke the exhaust valve is opened, pressure is released
and the residual gases flow into the atmosphere through the exhaust valve.

5. Fuel is burned directly inside the engine itself.

6. A cycle is one complete sequence of 4 strokes of the piston in the cylinder.

7. The heat released by the fuel is transformed into work so that the reciprocating
movement of the pistons is converted into rotary movement of a crankshaft by means
of connecting rods.

11. Complete the sentences using the words and expressions from the text.
1. The internal combustion engine is called so because ... .

2. The inlet stroke is called so because ... .

3. The operating cycle of the four-stroke petrol engine includes ...

4. When the piston reaches the bottom of its stroke ... .

13



5. The piston moves in the cylinder ... .
6. When the piston moves down ... .
7. The heat released by the fuel ... .

T

r 1. bonbmIMHCTBO aBTOMOOMIIEH pabOTaeT B YETHIPE TAKTA.

a 2. Paznu4aroT clieayronie TakThl: BOYCK, CKaTHE, paOOUYUi X0/ U BBIITYCK.

n 3. JlocTUrHYB HMKHEN MEPTBOM TOUKH, TOPIIEHb HAYMHAET ABUTAaThCS BBEPX, U
sMech CxuMaeTcs (YIUIOTHSIETCS).

1 4. Bo3BpaTHO-IIOCTYIATENbHOE ABMKEHUE OPIIIHA Yepe3 MIAaTyH MPEBPAILAETCS BO
APAIATEIILHOE IBUKEHUE KOJIEHYATOr O Baja.

t 5. Korma mnopmieHp BHOBb JOCTHIAeT BEPXHEM MEPTBOM TOYKH, HCKpPaA
BOCIUJIAMEHSET TOIIMBHYIO CMECH.

i 6. Ilopmenp JBUXKETCS BHM3, M 4Yepe3 BIYCKHOM KiamaH B LMJIMHJIP
RITPHICKMBAETCS TOILIUBO.

t

0 13. Are these statements true or false?

E 1. During the inlet stroke the inlet valve closes and a charge of fuel exhaust from
the cylinder.

2. Fuel is burned directly outside the engine itself.

3. During the power stroke the spark ignites the mixture.

4. A cycle is one complete sequence of three strokes of the piston in the cylinder.
5. The heat released by the fuel is transformed into work.

6. Great pressure makes the piston move back down the cylinder.

7. The exhaust stroke completes the cycle.

e g

14. Read the text again and ask as many questions about it as you can. Let
your group-mate(s) answer the questions.

15. Translate the text from English into Russian.
16. Write an essay of the text and render it in English.
17. Read the dialogue and act it out.

At the Repairing Shop

Client: Good afternoon! Can you help me? There is something wrong with the
engine.

Master: Hi! What is wrong with it?

C.: I don't know. It wouldn't start. Maybe the pistons and valves are in disorder.

M.: Let's have a look! Well, they are quite right.

C.: And what about the crankshaft, or electric spark plugs. I know absolutely
nothing about the operating cycle of the engine.

M.: Just a moment. Don't worry! We shall check up all units and how they work
together.

(Some time later)

M.: My God! There is no petrol in the tank. How can you move drive?

C: Really? Oh, | have forgotten to fill in the tank! | beg your pardon to trouble
you!

M.: No trouble, at all. You are welcome!
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Schematic diagram of a
single-cylinder diesel en-
gine

1 - cylinder head: 10 —flywheel ;

2 rocker arm; 11 - crankcase;

3 —fuel injector; 12 ~ crankshaft ;

4 - exhaust valve; 13 camshaft timing gear:
5 intake valve; 14— camshaft;

6 —cylinder; 15 fuel injection pump:

7 - piston ; 16 —valve lifter ( tappet ) and
8 — piston pin; push-rod ;

9 - connecting rod; 17 - air cleaner

18. Reproduce the dialogue in the reported speech.
Check up yourself

1. Complete the following table.

crankshaft
BMT
spark plug
JABC
piston
HIaTyH
inlet stroke
BBIITYCKHOM KJIallaH

2. Complete the sentences.

1. Most automobile engines work ... .

2. When the piston is at the top of the stroke ... .

3. The inlet valve is closed and ... .

4. The inlet valve opens to intake ... .

5. As the piston again reaches the top dead center ... .
6. Acycleis ... .

3. Write down the sentences in Passive Voice.
1. In Russia the tsar’s government showed little interest in railway transporting.
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2. At first only kings and queens had the privilege of driving in a four-wheeled
vehicle.

3. Two-wheeled carts and four-wheeled wagons and carriages could be used for
carrying goods for long distances.

4. The road was paved with brick.

4. Write down the sentences in Acive Voice.

1. The taximeter is a mechanical device measuring the distance travelled.
2. Lorries were used to transport sand to the site.

3. Combustion of petrol produces more heat than the combustion of coal.
4. A new safety device has been introduced to regulate traffic.

Unit4

Chassis

The main units of the chassis are: the power transmission, the running gear and
the steering mechanism. The power transmission includes the whole mechanism
between the engine and the rear wheels. This entire mechanism consists of the clutch,
gearbox, propeller (cardan) shaft, rear axle, final drive, differential and axle shafts.

At the front end of the car is the engine. On the back of it is the flywheel. Behind
the flywheel is the clutch. The clutch is a friction device connecting the engine with
the gears of the gearbox. The main function of the gearbox is to change the speed of
the car.

The power is always transmitted by the cardan shaft to the back axle. The final
drive reduces the high speed of the engine to the low speed of the driving wheels. The
differential enables the driving wheels to turn at different speeds which is necessary
when turning the car. The foundation of the automobile is the frame to which different
chassis units are attached.

The rear axle is capable of moving up and down about the frame. The rear axle
IS an important part of the transmission. It carries the greater portion of the weight of
the car.

The steering mechanism is designed for changing the direction of the car. The
brakes are used for stopping the car, for decreasing its speed and for holding the car
position.

Basic Troubles of Transmission Mechanism

Fig.1 Schematic diagrams of drive-line arrangements:

a) of an automobile b) of a wheeled tractor c) of a crawler tractor

1) clutch 2) transmission (gearbox) 3) cardan drive (propeller shaft) 4) half axles

5) differential 6) main drive 7) final drive 8) differential lock 9) rear axle

10) brake 11) steering mechanism 12) driving wheel (sprocket) 13) intermediate
drive (shaft)
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The transmission of the engine torque to the driving wheels of the automobile
must be smooth. There should be no vibration in the operation of transmission
mechanism within the range of travelling speeds.

The indications of malfunctions in the transmission mechanism components are
as follows:

1. incomplete disengagement of the clutch;

2. difficult engagement or self-demising of gears;

3. run out and vibration of the cardan-drive shaft.

What to do in these cases:

1. Check the free travel of the clutch pedal and adjust it.

2. Check the oil level in the gearbox housing and wash breather channel.

3. Check to see that all the fastening bolts are securely tightened and that the
turn-on crosses fit properly the bearings, and the bearings, in turn, the universe joint
forks.

1. Read the text, write down the underlined words, transcribe and
pronounce them correctly. Study the words.

2. Find predicates in all sentences and define their tense and voice.
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3. Find out the approximate meanings of the following English words by
comparing them to the corresponding Russian ones:

Transmission, system, mechanism, radiator, friction, automobile, cardan,
portion, final, accelerator, pedal, position

4. Give derivatives.
To adjust, to fasten, to travel, to drive, to house, to move, to attach, to run

5. Give synonyms.
Plenty of, to occur, to make, to believe, to care, to come back, too, to decide,
land, two times

6. Give antonyms.
To complete, after, to leave, to pass an examination, to ask, much, here,
tomorrow, to graduate, evening

7. Suggest the Russian equivalents.

Be capable, check, decrease the speed, engine crankshaft, driving wheels,
fastening bolts, flywheel, frame, hold the car position, free travel, in turn, move up and
down, level, to mount, springs, breather channel, running gear, effort, to tighten, to
support, within the range, universal-joint forks, incomplete disengagement, steering
system, trouble

8. Find in the text English equivalents close in meaning to the following.

BUJIKA KapJiaHa, pyJeBas CHUCTEMa, HEUCIIPAaBHOCTh, KPYTAIIUNA MOMEHT,
camMopa3beIMHEHNE IEeCTEPEH (caMopacieryieHIe ), CKOPOCTh €3/1bI, PYJIEBOE KOJIECO
(pynb), cujoBasi mepenada, pblyar KOpoOKH Tiepenad, KapTep, KOpIyC, HEMOIHOe
OTKJIIOYeHHUE (CIeTuieHus), OoJblllasi 4acTh Beca aBTOMOOWIIA, 3aJHHE KoJjeca,
HEToJaJKu, (HeucnpaBHas paboTa)

9. Translate into Russian.

1. The chassis includes the running gear, the power transmission and the steering
mechanism.

2. The power transmission consists of the clutch, gearbox, cardan shaft, rear axle,
final drive, differential and axle shafts.

3. The clutch connects the engine with the driving wheels.

4. The gearbox changes the speed of the car movement.

5. The steering mechanism changes the direction of the car.

6. At the front end of the car is the engine.

7. The rear axle is an important part of the transmission.

10. Complete the sentences using the words and expressions from the text.
. The power transmission includes ... .

. This entire mechanism consists of ... .

. The power is always transmitted ... .

. The foundation of the automobile is ... .

. The steering mechanism is designed for ... .

. The differential enables ... .

. The final drive reduces ... .

NNk wh—
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1. OCHOBHBIMH y37aMU IIACCH SIBJISIIOTCA: TPAHCMUCCHS, XOJIOBasi 4acThb U
PYJIEBON MEXaHU3M.

2. PaguaTtop pacrosiokeH B nepeaHel 4acTu aBTOMOOUIIS.

3. MaxoBUK KpenuTCs Ha 3aHEW YaCTU JBUTATEIIS.

4. CuernuieHUE COeIMHSET JBUraTeNb ¢ KOPOOKOM mepeay.

5. KopobOka mepenad mpenHazHaueHa IS U3MEHEHMS] CKOPOCTH JIBHKCHUS
aBTOMOOMJIA.

6. ['maBHasi mepenada CHMXKAET BBICOKME OOOPOTHI JIBUTATENS 10 HEBBICOKHX
000pPOTOB BEIYIINX KOJIEC.

7. Huddepenuman mno3BOJSIET BEAYIIUM KojiecaM BpallaThCsd C pa3HOU
CKOPOCTBIO TIPH TIOBOPOTE aBTOMOOHJIS.

8. PyneBoii MexaHU3M MpeaHa3HAYCH JJI1 U3MCHEHUS HaIlpPaBJICHUS JIBUKCHUS
aBTOMOOMJIA.

Fig. 2 Automobile transmission:

1) drive gear shaft 2) drive gear (clutch gear) 3) tooth rim 4) gear shift lever 5)
case cover 6) third-and-fourth-speed gear 7) first-and-second-speed cluster gear 8)
main shaft 9) reverse idler cluster gear 10) case 11) countershaft 12) countershaft
driven gear (constant-mesh gear)

12. Are these statements true or false?

1. The rear axle isn’t an important part of the transmission.

2. The gearbox changes the speed of the car movement.

3. The driving wheels are connected with the engine by the clutch.

4. There should be some vibration in the operation of transmission mechanism
within the range of travelling speeds.

5. The foundation of the automobile is the frame.

6. On the back of the car is the engine.

7. The power is always transmitted by the cardan shaft to the live back axle.

13. Read the text again and ask as many questions about it as you can. Let
your group-mate(s) answer the questions.
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14. Translate the text from English into Russian.
15. Write an essay of the text and render it in English.

16. Read the dialogue and act it out.

Transmission Mechanism

Teacher: Let's speak about the transmission mechanism. What main units does
the transmission include?

Student: The transmission is the entire mechanism between the engine and the
rear wheels. It includes the clutch, gearbox, cardan shaft, rear axle, final drive and
differential.

T.: What does the clutch connect?

S.:  The clutch connects the engine with the gearbox.

T.:  And what does the gearbox do?

S.: The gearbox changes the speed of the car.

T.:  What does the differential enable?

S..  The differential enables the driving wheels to move at different speeds
when turning the car.

T.: For what purpose is the steering system used?

S.: The steering system is used for changing the direction of the car movement.

T.: And what is the function of the brakes?

S.:  Brakes are used to slow or stop the car.

T.:  That's right. You know the subject very well.

17. Reproduce the dialogue in the reported speech.
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Check up yourself

1. Complete the following table.

3aJHHC KOJICCa

malfunction
engine crankshaft

MaXOBHK

driving wheels

KapTep, KOpIyc

breather channel

phIyar KOpPOOKHU
nepeaad

2. Complete the sentences.

1. The steering system is used for ... .

2. The transmission is the entire mechanism ... .

3. Brakes are used ... .

4. The transmission of the engine torque must be ... .
5. The differential enables ... .

6. The rear axle is capable ... .

3. Write down the sentences in Passive Voice.

1. The clutch connects the engine with the gearbox.

2. The steering system is used for changing the direction of the car movement.

3. There should be no vibration in the operation of transmission mechanism
within the range of travelling speeds.

4. Different chassis units are attached to the frame.

4. Write down the sentences in Acive Voice.

1. The transmission includes the clutch, gearbox, cardan shaft, rear axle, final
drive and differential.

2. The steering system is used for changing the direction of the car movement.

3. The clutch connects the engine with the gearbox.

4. All the fastening bolts must be securely tightened.

Unit 5

Frame

The foundation of the automobile chassis is the frame which provides support
for the engine, body and power-train members. Cross members reinforce the frame.
The frame is rigid and strong so that it can withstand the shocks, vibrations, twists and
other strains to which it is put on the road.

The frame provides a firm structure for the body, as well as a good point for the
suspension system. There are two types of frames, namely: conventional frames and
integral (unibody) frames (frameless constructions).

Conventional frames are usually made of heavy steel channel sections welded or
riveted together. All other parts of the car are attached to the frame.
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In order to prevent noise and vibrations from passing to the frame and from there
to the passengers of the car, the frame is insulated from these parts by rubber pads.

It is also important to insulate the frame in order to prevent metal-to-metal
contacts.

Frameless (unibody) constructions are called so because they are made integral
with the body. The body parts are used to structurally strengthen the entire car. Some
unibody frames have partial front and rear frames for attaching the engine and
suspension members.

1. Read the text, write down the underlined words, transcribe and
pronounce them correctly. Study the words.

2. Find predicates in all sentences and define their tense and voice.

3. Find out the approximate meanings of the following English words by
comparing them to the corresponding Russian ones:

Chassis, structure, system, integral, construction, steel, vibration, passenger,
metal, contact.

4. Give derivatives.
To think, to decide, to accept, to insist, to resist, to signify, to differ

5. Give synonyms.
Many, total, to happen, essential, usual, although, everywhere, to get, to store,
strong

6. Give antonyms.
To receive, south, to open, good, black, successful, exact, easy, to manage, loud

7. Suggest the Russian equivalents.

Rigid, conventional frame, to insulate, suspension, rubber pad, channel section,
longitudinal members, unibody construction, to get into trouble, to find out the damage,
alignment, suspension system, to fasten, to strengthen, power-train members, to
prevent vibration, to provide support, to reinforce

8. Find in the text English equivalents close in meaning to the following.

JIoHXEPOHBI, TONEPEYNHBI, KECTKUH, IPOYHBIM, BBIICPKUBATH HATPY3KH,
MoJIBECKa, 0ObIYHAs (0OIIeTIpUHATas) pama, Oe3paMHasi KOHCTPYKIIHSI, TTOJIbIe CEKIIHH,
CBapEHHBbIE WJIM 3aKjeNaHHble, NPUKPEIUIITh K pamMe, PE3UHOBbIE MNPOKIIAIKH,
YKPEIUISITh

9. Translate into Russian.

1. The frame is a structural centre of any car as it provides support for the engine,
body, wheels and power-train members.

2. Cross members reinforce the frame and provide support for the engine and
wheels.

3. The frame is extremely rigid and strong.

4. The engine is attached to the frame in three or four points and insulated in
these points by some rubber pads to prevent vibration and noise from passing to the
frame and thus to the passengers.
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5. There are two types of frames: conventional construction and unibody one.

6. The foundation of the automobile chassis is the frame which provides support
for the engine, body and power-train members.

7. Conventional frames are usually made of heavy steel channel sections welded
or riveted together.

10. Complete the sentences using the words and expressions from the text.
1. The frame provides support for ....

2. Conventional frames are made of ... .

3. Frameless constructions are made ... .

4. The frame is insulated from other parts in order to ... .

5. The frame is reinforced by ... .

6. Frameless constructions are called so ... .

7. The frame is insulated from some parts by rubber pads ... .

11. Translate into English.

1. Pama obGecnieunBaet onopy AJisi Ky30Ba, IBUTATElNs U y3JI0B CUIIOBOM
nepenayu.

2. OHa COCTOWT M3 JJOHKEPOHOB U IONEPEYNH, KOTOPBIE YCUIIMBAIOT PaMy.

3. Pama nopKHA BBIIEPKUBATH BUOpALMIO, KPYYECHHS U JIpYyTrUe Harpy3Kd
(HanpspKeHus ).

4. Pampl ObIBalOT JIByX THIIOB: OOBIYHBbIE (CTAHAAPTHBIE) U BBIIIOJHEHHBIC
BOEJMHO C KYy30BOM.

5. CrangapTHbIE paMbl H3TOTOBJIEHBI U3 CTAIBHBIX MOJBIX CEKIUN, CBAPEHHBIX
WM 3aKJICTIAHHBIX BMECTE.

6. be3pamHble KOHCTPYKIHHU BBIITOJIHEHBI BOEAUMHO C KY30BOM.

7. Pama uzonupyercsi OT Ky30Ba PE3MHOBBIMU MPOKJIAKaMHU, YTOOBI IIYMbI U
BUOpAIMK HE MPOXOIMIN K MacCaKUpaM aBTOMOOMIIA.

12. Are these statements true or false?

1. In order to prevent noise and vibrations the frame is insulated by rubber pads.

2. The frame can’t withstand the shocks, vibrations, twists and other strains to
which it is put on the road.

3. The engine is attached to the frame in five or six points.

4. The frame provides a firm structure for the body and a good point for the
suspension system.

5. Cross members reinforce the frame.

6. The frame mustn’t be rigid and strong.

7. Conventional frames are usually made of heavy steel channel sections.

13. Read the text again and ask as many questions about it as you can. Let
your group-mate(s) answer the questions.

14. Translate the text from English into Russian.
15. Write an essay of the text and render it in English.

16. Read the dialogue and act it out.
Stas: Hi! Haven’t seen you for ages! How are you?
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Vlad: Hi! I'm perfectly well! I am working at a repairing shop. Very interesting
indeed, | can tell you.

S.: What are you doing there?

V.. Now, we are testing the frame. You see, the driver has got into trouble.
Something is wrong with his car. He thinks it is the frame.

S.: Has the car a conventional frame or a unibody frame?

V.: Unibody frame.

S.: I think you have to do a lot of work as body parts strengthen the entire car.

V.: Sure. We are testing all parts in order to find out the damage.

S.: I think you will cope with the problem.

17. Reproduce the dialogue in the reported speech.
Check up yourself

1. Complete the following table.

frameless
constructions

JIOH>KEPOHBI

cross members

PCE3UHOBEIC IIPOKJIAKH

suspension members

Y3JIbI CHJIOBOM
nepenayn

to prevent noise

BUOpanus

. Complete the sentences.

. It 1s also important to insulate the frame ... .

. Conventional frames are usually made of ... .
. The frame provides ... .

. The frame can withstand ... .

. There are two types of frames, namely: ... .

. All other parts of the car ... .

NN~ WN =N

. Write down the sentences in Passive Voice.

. Frameless constructions are made integral with the body.
. Body parts strengthen the entire car.

. | am working at a repairing shop.

. All other parts of the car are attached to the frame.

APONPFP,W

. Write down the sentences in Acive Voice.

. The driver has got into trouble.

. We are testing the frame.

. Heavy steel channel sections are usually welded or riveted together.

. Support for the engine, body and power-train members is provided with the

A WONPEF A

frame.
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Unit 6

Clutch

The clutch is a friction device. It connects the engine to the gears in the gearbox.
It is used for disconnecting the engine from the gearbox, for starting the car and for
releasing the engine from the car wheels.

The clutch is fixed between the flywheel of the engine and the gearbox and
consists of two plates (discs): the friction disc and the pressure disc. The friction disc
Is situated between the flywheel and the pressure plate and has a hard-wearing material
on each side.

The basic principal operation of the clutch is a frictional force acting between
two discs. The clutch is controlled by the clutch pedal. When the pedal is at rest the
clutch is engaged and the running engine is connected to the gearbox. When the pedal
Is pressed down the clutch is disengaged and

the engine runs idle.

Fig. 1 Clutch
1. flywheel 2. friction disc 3. pressure disc 4. spring
5. cover 6. thrust bearing 7. lever 8. pedal

1. Read the text, write down the underlined words, transcribe and
pronounce them correctly. Study the words.

2. Find predicates in all sentences and define their tense and voice.

3. Find out the approximate meanings of the following English words by
comparing them to the corresponding Russian ones:

Start, disc, friction, frictional, material, base, principal, control, pedal,
accumulation, technology, group, locomotive, automatic, transport, signal, constant,
element, problem, experiment, apparatus, industry

4. Give derivatives.

To connect, to press, to operate, to fix, to rotate, to generate, to contribute, to
cool
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5. Give synonyms.
Wood, stone, earth, invention, to provide, to construct, quantity, to change, ship,
to solve

6. Give antonyms.
Seldom, excellent, never, useless, full, easy, never, to come back, poor, to close

7. Suggest the Russian equivalents.

Friction device, clutch, gearbox, to free, to start, to release, flywheel, pressure
plate, basic principle of operation, to fix, hard-wearing material, to consist of, to be
controlled by, running engine, to run idly, to engage, to disengage, to press down, to be
at rest

8. Find in the text English equivalents close in meaning to the following.

q)yHKHI/IH COCIINICHUA, OJI1 OTKIIKOUCHHUA ABUIAaTCIIA OT KOpO6KI/I nepcaad,
KPEMUTCS MKy MaXOBUKOM U KOpOOKOM mepenay, (GPUKIIMOHHBIN (BEJOMBIN) JTUCK,
Ha)KUMHOU JUCK, (1)pI/IKI_[I/IOHHaH CHiIa, CUHCIICHUC BKJIIOYCHO, IICOaJIb B MCXOAHOM
ITOJIOKCHHNU, I1I€1aJIb CLICIIJICHUA Ha>XaTa

9. Translate into Russian.

1. The clutch connects the engine to the gears in the gearbox.

2. The clutch is fixed between the flywheel of the engine and the gearbox.

3. The friction disc is situated between the flywheel and the pressure plate.

4. The clutch is controlled by the clutch pedal.

5. The clutch is used for freeing the engine from the gearbox, for starting the car
and for freeing the engine from car wheels.

6. The clutch usually consists of two discs: the friction disc (driven disc) and the
pressure disc.

7. When the clutch is fully engaged the frictional force makes discs rotate at the
same speed.

10. Complete the sentences using the words and expressions from the text.
1. The clutch is a device ... .

2. The clutch is situated ... .

3. The clutch is controlled by ... .

4. The clutch is engaged ... .

5. The clutch is disengaged .. ..

6. The clutch is used for ... .

11. Translate into English.

1. CuerieHue — 3To PPUKIIMOHHOE YCTPOUCTBO.

2. CrieruieHue COeIMHSET ABUTATENIb U KOPOOKY mepesad.

3. CuemuieHne pacHoJIOKEHO MEXJIy MaxOBHKOM JBHUraTeisi U KOpPOOKOH
nepenaay.

4. Kak npaBujio, CUEIVIEHUE COCTOUT U3 IBYX JIHCKOB: BEAOMOTO U HAXKUMHOTO.

5. CuenuieHne ynpasisieTcsl IeAaNIbIO CIETICHHUS.

6. Koria nenans crienyieHust HAXOAUTCS B MOKOE, TUCKHU CIEIUVIEHUS! COeIMHEHbI
U paboTarouil ABUraTeNlb COEIUHEH C KOPOOKOW nepead v KOJIECaMHu.

7. Korma BoauTenb HAXKUMAET HA TMeJaldb CLEMJIEHUS, JUCKH OTXOHAT,
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CHCIINICHUEC OTCOCAUHATCA U ABUT'aTCJIb pa60TaeT BXOJIOCTYIO.

12. Are these statements true or false?

1. The clutch connects the engine to the gears in the gearbox.

2. The clutch mustn’t be fixed between the flywheel of the engine and the
gearbox.

3. The pressure disc is situated between the flywheel and the pressure plate.

4. The clutch is controlled by the clutch pedal.

5. When the pedal is at rest the clutch is disengaged and the engine runs idly.

6. When the pedal is pressed down the clutch is engaged and the running engine
Is connected to the gearbox.

7. The clutch usually consists of two discs: the friction disc and the pressure disc.

13. Read the text again and ask as many questions about it as you can. Let
your group-mate(s) answer the questions.

14. Translate the text from English into Russian.
15. Write an essay of the text and render it in English.

16. Read the dialogue and act it out.

Anton: Hi, how are you?

Boris: Fine, thanks. And you?

A: I’'m O.K., thank you. Where do you study?

B: I study at the engineering faculty.

A.: Whom does the faculty train?

B.: It trains specialists for the agriculture.

A.: Why did you decide to become an engineer?

B.: | enjoy working with machines.

Why did you decide to become an engineer?

B.: | enjoy working with machines. | enjoy learning about a car. | understand
every part of it.

A.: What is the function of the clutch?

B.: You see, it serves three functions. It is used for freeing the engine from the
gearbox, for starting the car and for freeing the engine from car wheels.

A.: Is it a friction device?

B.: Yes, of course. It is fixed between the flywheel of the engine and the gearbox
and usually consists of two discs.

A.: What discs?

B.: The friction disc (driven disc) and the pressure disc.

A.: | suppose the principle of operation of clutches is a frictional force between
discs. Am I right?

B.: Yes, you are. When the clutch is fully engaged the frictional force makes
discs rotate at the same speed.

A.: And by what is the clutch controlled?

B.: By the clutch pedal. When it is at rest the clutch is engaged and when it is
pressed down the clutch is disengaged and the engine is disconnected from the car
wheels.
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A.: Thank you. And what types of clutches do you know?
B.: Positive clutches and gradual engagement clutches.
A.: Thank you very much for your information.

B.: Not at all. Glad to help you.

Fig.1 Schematic diagram of a clutch:
10 driving disc (pressure plate) 2) pressure spring 3) driven disc 4) flywheel 5)
release lever 6) release bearing 7) clutch pedal 8) transmission clutch (input) shaft
17. Reproduce the dialogue in the reported speech.
Check up yourself

1. Complete the following table.

a friction device

MaXOBHK

hard-wearing
material

(PUKITMOHHBIN JUCK

to release the engine

neaaiab CHEINICHUS

to be at rest

OTCOCAMHUTH ABUTATCIIb

. Complete the sentences.

. When the clutch pedal is at rest ... .

. When the clutch pedal is pressed down ... .

. When the clutch is fully engaged ... .

. The principle of operation of clutches is ... .

. There are three functions of clutch. They are ... .
. The clutch connects the engine ... .

OWnNkWN~=N

. Write down the sentences in Passive Voice.

. The frictional force makes discs rotate at the same speed.

. The clutch is used for disconnecting the engine from the gear box.
. A frictional force is acting between two discs.

. The clutch is controlled by the clutch pedal.

AP OONFP W
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4. Write down the sentences in Acive Voice.

1. The friction disc is situated between the flywheel and the pressure plate.

2. The INA Bearing Co.,Inc. has introduced a maintenance-free spherical plain
bearing.

3. Many physical phenomena could never be explained without the Theory of
Relativity.

4. The Theory of Relativity brought Einstein fame on five continents.

Unit7

Gearbox

The gearbox is placed between the clutch and the propeller shaft. The principal
function of the gearbox is to vary the speed of the car movement to meet the road
conditions. The gearbox provides four forward speeds and one reverse, as follows:

1) first or low gear; 2) second gear; 3) third gear; 4) fourth or top gear; 5) reverse
gear.

There are many constructional arrangements of gearboxes, which can be
classified as follows: 1) sliding-mesh type; 2) constant-mesh type; 3) epicyclic
(planetary) type.

The sliding-mesh type is the simplest one and is the oldest historically. The
constant-mesh type is the most widely used type. They are termed "ordinary" gearing,
the characteristic feature of which is that the axes of the various gears are fixed axes.
The gears simply rotate about their own axes.

The characteristic feature of epicyclic (planetary) gearing is that one gear rotates
about its own axis and also rotates bodily about some other axis.

To secure the several speeds of the car the clutch shaft is mounted in direct line
with the gearbox shaft. The gearbox shaft carries on it the sliding gears which are used
for shifting to secure the forward speeds and the reverse drive.

1. Read the text, write down the underlined words, transcribe and
pronounce them correctly. Study the words.

2. Find predicates in all sentences and define their tense and voice,

3. Find out the approximate meanings of the following English words by
comparing them to the corresponding Russian ones:

Principal, function, construction, constructional, class, classify, type, planet,
planetary, history, historical

4. Give derivatives.
To construct, to classify, to repair, to work, to lubricate, to drain, to use, to rotate

5. Give synonyms.
Much, to return, also, to do, ground, powerful, twice, numerous, to determine, to
take place

6. Give antonyms.
Empty, shallow, to destroy, huge, complicated, to assemble, to remain, strength,
always
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7. Suggest the Russian equivalents.

Ordinary gearing, road conditions, gearbox, top gear, sliding-mesh gearbox,
reverse drive, epicyclic (planetary) gearbox, forward speed, characteristic feature,
rotate bodily, fixed axes, gearing, low gear, secure, shifting, gear, axle, constant-mesh
gearbox

8. Find in the text English equivalents close in meaning to the following.

[ecrepus (nmepenaya), kopoOka mepenay, 3y0uaToe COeIUHEHHUE, TOPOKHbBIE
yCIIOBUS, MIEPEIHSS CKOPOCTh, 0OpaTHBIN (3aJHUI) X011, IepBas mnepeaaya, YeTBepras
(npsmasi) mepenaya, KOpoOKa Iepefad CO CKOJB3AIIMMU LIECTEPHIMH, KOPOOKa
nepenay ¢ MOCTOSHHBIM 3allelUICHHEM HIECTePeH, SMUIMKINYecKas (TIaHeTapHast)
KopoOKa Tmepenad, CTaHAAPTHOE 3y04aToe COeIWHEHHE, 3a(UKCHUPOBAHHBIC
(HETOABMKHBIE) OCH

9. Translate into Russian.

1. Gearboxes are assembled and disassembled on special stands using special
mechanisms.

2. In case of trouble in change-speed gearbox it can be repaired only in the
workshop.

3. Butin order not to get into trouble you should check the oil level in the gearbox
casing.

4. In order not to get into trouble you should wash the breather channel.

5. One must change the oil in accordance with the lubrication schedule.

6. The driver has to wash the gearbox with a thin mineral oil.

7. One has to drain the used oil through the drain hole.

10. Complete the sentences using the words and expressions from the text.
The principal function of the gearbox is ... .

The gearbox provides ... .

Gearbox can be ... .

The sliding-mesh gearbox is ... .

The constant-mesh gearbox is ... .

okhwNE

11. Translate into English.

1. Kopobka mepenau mpenHa3Hau€Ha JJII MU3MEHEHUS CKOPOCTU JIBHIKCHHUS
aBTOMOOMJIS.

2. KopoOka nepenay o0ecreuynBaeT YeThIpe NEPEIHUE CKOPOCTH U 3aAHUI XOJ.

3. KopoOku mepegady MOryT OBITb: CO CKOJIB3SAIIUMH IIECTCPHIMH, C
MIOCTOSTHHBIM 3alICTJICHHEM IIECTEPEH U IJIAHETapHOTO THUTIA.

4. CaMblMH TPOCTBIMHU SIBIISIIOTCS KOPOOKHM Tepeaad CO CKOJB3SIIUMU
HIECTEPHIMHU.

5. KopobOku mepemad ¢ MOCTOSHHBIM 3alleTNIEHUEM IIEeCTEPEH UCTIOIb3YIOTCS
HauboJee yacTo.

6. Ckomp3siiie IIECTEPHHM Ha Bally KOPOOKM TiepeAad HCHONIB3YIOTCA  JUIs
o0ecredyeHus MepeIHUX CKOPOCTE 1 00paTHOTO X0/1a.

12. Are these statements true or false?

1. In order to get into trouble you should check the oil level in the gearbox casing.
2. One must change the oil in accordance with the lubrication schedule.

3. In case of trouble in change-speed gearbox it can be repaired by the driver
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himself.

4. The gears are used for shifting to secure the forward speeds and the reverse
drive.

5. The gearbox provides four reverse speeds and one forward.

6. The characteristic feature of planetary gearing is that one gear rotates about
its own axis and also rotates bodily about some other axis.

7. There are four constructional arrangements of gearboxes.

13. Read the text again and ask as many questions about it as you can. Let
your group-mate(s) answer the questions.

14. Translate the text from English into Russian.
15. Write an essay of the text and render it in English.

16. Read the dialogue and act it out.

Mike: Peter, do you remember what our teacher told us last time? What do you
know about gearboxes?

Peter: | know that the gearbox is used to change the speed of the car.

M.: And how many speeds does the gearbox provide?

P.: It can provide four forward speeds and one reverse.

M.: Into what types are the gearboxes divided according to their arrangements?

P.: They are divided into sliding-mesh type, constant-mesh type and epicyclic
type.

M.: What type is the simplest?

P.: The sliding-mesh one.

M.: Thank you very much for you help.

P.: You are welcome. Glad to help you.

17. Reproduce the dialogue in the reported speech.
Check up yourself

1. Complete the following table.

repairing shop

CJIMBHOC OTBCPCTHUC

sliding-mesh gearbox

KaHaJl caryHa

gearbox casing

3y04aToe COeTMHEHUE

constant-mesh
gearbox

ICPCKIIIOYCHUC

2. Complete the sentences.

1. The characteristic feature of epicyclic gearing is ... .
2. The sliding gears are used for ... .

3. The gearbox is placed ... .
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. The gearbox is used ... .
. The gearboxes are divided into ... .
. The gearbox provides ... .

N D A~

. Write down the sentences in Passive Voice.

. Constructional arrangements of gearboxes can be classified into three types.
. Epicyclic gearing rotates about its own axis.

. The clutch shaft is mounted in direct line with the gearbox shaft.

. The gearbox can provide four forward speeds and one reverse.

PONRFPW

. Write down the sentences in Acive Voice.

. Everything that probably could be invented had been invented.

. In the 20" century reliable petrol engines became available.

. Buses were started in Paris in 1820.

. The French military engineer Cugnot built a steam-driven engine in1828.

A WONPRF A

Unit 8

Brakes
Brakes are used to slow or stop the car where it is necessary.

Fig.1. Brake System

a) piston A b) piston B c¢) brake shoe d) wheel

It is one of the most important mechanisms of the car as upon its proper
performance the safety of passengers depends. Car brakes can be divided into two
types, namely: drum brakes and disc brakes. The drum type may be either a band brake
or a shoe brake. Depending on their functions, the automobile has foot brakes and hand
brakes (parking brakes). According to their mode of operation, the brakes are classified
as: mechanical brakes, hydraulic brakes, air brakes, electric brakes. Brakes are
controlled by the brake pedal.

Most braking systems in use today are hydraulic. This system consists of a
master cylinder mounted on the car frame and wheel cylinders. When the driver pushes
down on the brake pedal, it forces the piston to move in the master cylinder and brake
fluid is delivered from it to the wheel cylinders. The piston movement causes brake
shoes to move and the brakes are applied (the brake shoes are pressed against the brake
drums).

The air brake uses compressed air to apply the braking force to the brake shoes.
Electric brakes use electromagnets to provide the braking effort against the brake shoes.

Formerly brakes were applied only to the two rear wheels, but now all cars are
equipped with all-wheels brakes. Today many improvements are being made in brakes.

The basic troubles of the braking system are as follows: 1) poor braking action;
2) sticking brake shoes which would not return to the initial position after a brake pedal
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Is released; 3) non-uniform braking of the left and the right wheels on a common axle;
4) leakage of brake fluid and air leakage in the hydraulic brake; 5) poor air tightness
of the pneumatic brake control.

If you have such troubles you must: 1) check the action of the foot and hand
brakes and leak proofness of the brake hoses connections, components of the hydraulic
and pneumatic controls of the brakes, as well as of the vacuum-power system. 2)
inspect the friction linings, wheel-brake springs, master and wheel cylinders of the
hydraulic brake and the air compressor of the pneumatic brake using a test manometer
to check it.

Fig.2 Brake:

a) construction b) brake released c) brake applied d) brake control

1) brake disc 2) pressure disc 3) ball 4) brake link 5) spring 6) housing 7)
brake rod yoke 8) brake rod 9) brake pedal 10) brake latch 11) brake latch rod

1. Read the text, write down the underlined words, transcribe and
pronounce them correctly. Study the words.

2. Find predicates in all sentences and define their tense and voice.

3. Find out the approximate meanings of the following English words by
comparing them to the corresponding Russian ones:

Mechanism, passenger, type, hydraulic, cylinder, vacuum, function, classify,
classification, mechanical, electric, electromagnet.

4. Give derivatives.
To press, to safe, to develop, to depend, to differ, to equip, to improve, to
contribute

5. Give synonyms.
To have an examination, to come to the lecture, to finish, country, road, to
require, difficult, essential, to construct, to get

6. Give antonymes.

Damage, different, expensive, narrow, weakness, simple, to lend, to restore, at
once, to sell
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7. Suggest the Russian equivalents.

Performance, the safety of passengers, to depend upon, drum brakes, disc brakes,
brakes are applied, hydraulic assisted brakes, power assisted brakes, to press down on
the brake pedal, under pressure, braking effort, push down on the brake pedal, brake
shoes, force the fluid, master cylinder, band brake

8. Find in the text English equivalents close in meaning to the following.

TopMosa, 0€e301acHOCTh IMacCa’kupoB 3aBUCUT OT HpaBHHBHOfI pa60TI>I
TOPMO30B, 6apa6aHHI>I€ TOpMO3a, OHUCKOBBIC TOpPpMO3a, TOPpMO3a C YCHUIHUTCIICM,
TUAPABINYECKUM TPUBOJ TOPMO30B, JKHJIKOCTh IIOJ JABJICHUEM, TOPMO3a
Cpa6aTI>IBaIOT, TOPMO3HOC YCHIIMC, HAKATh HA TOPMO3HYIO IICIAJIb.

9. Translate into Russian.
1. Brakes are the most important mechanism of the car. They are used to slow
or stop the car where it is necessary.

2. The clutch is a friction device. It connects the engine to the wheels in the
gearbox. It is used for freeing the engine from the gearbox, for starting the car and for
releasing the engine from the car wheels.

3. Itis fixed between the flywheel of the engine and the gearbox.

4. They are divided into 2 types, namely: drum brakes and disc brakes.

5. Most cars of today use hydraulic or power assisted brakes.

6. They may be of 2 plates: friction disc and pressure disc. The friction disc is
situated between the flywheel and the pressure disc.

Fig. 3 Pneumatic brake system of an automobile:

1) brake (air) compressor 2) pressure gauge 3) brake reservoirs 4) rear wheel
brake chambers 5) coupling head 6) disconnecting valve 7) air hose 8) brake valve 9)
front wheel brake chambers

10. Complete the sentences using the words and expressions from the text.
1. Brakes are used for ... .

2. Brakes are one of ....

3. Brakes may be of 2 types ... .

4. Brakes are applied by ... .

5. Brakes are applied when ... .

6. Car brakes can be divided into ... .

11. Translate into English.

1. Topmo3a sIBISIFOTCS HanOoJIee BaXKHBIM MEXAHU3MOM aBTOMOOUJIS.

2. OHU UCTIONB3YIOTCS AJI 3aMEIJICHUS IBHXKEHUSI MJTM OCTAHOBKU aBTOMOOUJIS.
3. TopMo3a MOKHO pa3/ieUTh Ha JIBa TUIIA, @ UMEHHO: OapabaHHbIE TOPMO3a U
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JMCKOBBIE TOPMO3A.
4. Ha 607bpIIMHCTBE aBTOMOOMIIEH UCTIONB3YETCS THAPABINYECKHUM TPUBOJT WIIH
MHEBMATUYECKUN TIPUBO/I.
5. Topmo3a cpabaTbiBatOT, KOTAa BOANUTENb HAKUMAET HAa TOPMO3HYIO IE/1aTIb.

12. Are these statements true or false?

1. Formerly brakes were applied to all wheels.

2. Most cars of today use power assisted brakes.

3. Brakes are not very important mechanism of the car.

4. Brakes are used to slow or to stop the car where it is necessary.

5. The hydralic system consists of a master cylinder mounted on the car frame
and wheel cylinders.

6. When the driver pushes down on the brake pedal, it forces the car to run faster.

7. The piston movement causes brake shoes to move.

13. Read the text again and ask as many questions about it as you can. Let
your group-mate(s) answer the questions.

14. Translate the text from English into Russian.
15. Write an essay of the text and render it in English.

16. Read the dialogue and act it out.

Anton: Hi, how are you?

Boris: Fine, thanks. And you?

A: I’'m O.K., thank you. Where do you study?

B: I study at the engineering faculty.

A.: What specialists does the faculty train?

B.: It trains specialists for the agriculture.

A.: Why did you decide to become an engineer?

B.: | enjoy working with machines. | enjoy learning about a car. | understand
every part of it.

A: Why are brakes used?

B: They are used to stop or to slow the car.

A.: Well, it is one of the most important mechanisms of the car, isn't it?

B.: Of course, the safety of the passengers depends upon their proper
performance.

A.: What types of brakes are used today?

35



B.: Drum brakes, disk brakes and others.

A.: And in what way are they applied?

B.: They are applied by the brake pedal. When the driver pushes down on the
pedal they are applied.

A.: Thank you. It was very nice of you to tell me this information.

B.: Don't mention it. | was glad to serve you.

17. Reproduce the dialogue in the reported speech.

1.

NN B WD =N

3.
1. The air brake uses compressed air to apply the braking force to the brake

shoes.

2.
3.

Check up yourself

Complete the following table.

leakage

CTOUKOCTBH

drum brakes

JUCKOBBIC TOpMO3a

sticking

TOPMO3HAA IICAAJIb

tightness

ITHCBMATHUYCCKNC TOPMO3a

. Complete the sentences.

. When the driver pushes down on the pedal ... .
. The safety of the passengers depends upon ... .
. Electric brakes use electromagnets ... .

. All cars are equipped with ... .

. Brakes are one of ... .

. Formerly brakes were applied ... .

Write down the sentences in Passive Voice.

Brakes are used to slow or stop the car.
Brakes are classified as: mechanical brakes, hydraulic brakes, air brakes,

electric brakes.

4.

One must inspect the friction linings, wheel-brake springs, master and wheel

cylinders of the hydraulic brake.

4.
1.
2.
3.
checked.
4.

Write down the sentences in Acive Voice.

Today many improvements are being made in brakes.

Most braking systems in use today are hydraulic.

The air compressor of the pneumatic brake using a test manometer should be

This system consists of a master cylinder mounted on the car frame and wheel

cylinders.
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Unit 9

Steering System
To guide the car, it is necessary to have some means of turning the front wheels
so that the car can be pointed in the direction the driver wants to go. The steering wheel
in front of the driver is linked by gears and levers to the front wheels for this purpose.
The front wheels are on pivots so they can be swung to the left or right. They are
attached by steering knuckle arms to the rods. The tie-rods are, in turn, attached to the

pitman arm.

Fig. 1. Steering System

1) steering wheel 2) steering column, steering mast 3) steering gear
4) steering arm, steering lever, (steering) pitman arm

5) steering knuckle

6) steering knuckle lever, steering knuckle arm 7) single tie-rod
8) steering knuckle lever, steering knuckle arm

9) drag link, steering gear connecting rod, steering drag rod

When the steering wheel is turned, gearing in the steering gear assembly causes
the pitman arm to turn to the left or right. This movement is carried by the tie-rods to
the steering knuckle arms, and wheels, causing them to turn to the left or right.

The steering system incorporates: the steering wheel and column, steering gear,
pitman arm, steering knuckle arm, front axle, steering knuckle pivot, tie-rods.

There are several different manual steering gears in current use, as the rack and
pinion type and the recirculating ball type. The rack and pinion steering gear is widely
used. Another manual steering gear which is popular in imported cars is the worm and
sector type.

The steering wheel and column are the source of injury to the driver, air bags
and other devices being developed now to safe the life of a driver.

Energy-absorbing columns must stop the steering wheel and column from being
pushed to the rear as the front of the car is crushed in an impact.

Energy-absorbing columns must also provide the driver with a tolerable impact
as he moves forward and strikes the wheel with his chest.

Steering gear and linkage may have the following basic troubles: excessive
steering-wheel free play, bending of steering rod, oil leakage from the steering-gear
case, disadjustment of steering gear. If there are some of them one must check the
steering-wheel free play and steering gear performance while the car is running. Then
you must check the steering-gear case for oil leakage by visual inspection and adjust
the steering gear. Steering gear of the worm and roller type is adjusted by end playing
in the steering worm shaft bearings.

1. Read the text, write down the underlined words, transcribe and
pronounce them correctly. Study the words.
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2. Find predicates in all sentences and define their tense and voice.

3. Find out the approximate meanings of the following English words by
comparing them to the corresponding Russian ones:

column, spindle, system, hydraulic, pump, reservoir, popular, type, effective,
effectiveness, effectively, energy, function, to deform, deformation

4. Give derivatives.
To perform, to manufacture, to drive, to attach, to move, to safe, to steer, to leak

5. Give synonyms.
Much, to make, to consider, to care, to return, also, quantity, too, big, to come
back

6. Give antonyms.
Free, similar, to offer, ordinary, strong, easy, empty, outside, early, always

7. Suggest the Russian equivalents.

To guide the car, steering wheel, steering column, steering mast, steering gear,
steering arm, steering lever, (steering) pitman arm, steering knuckle, steering knuckle
lever, steering knuckle arm, single tie-rod, drag link, steering gear connecting rod,
steering drag rod, to turn to the left or right, energy-absorbing columns

8. Find in the text English equivalents close in meaning to the following.

UpesmepHbild CBOOOAHBIA XOJI, KapTep KOPOOKH Tiepenay, THUIBI PYJIEBBIX
MEXaHU3MOB, CHCTEMA pYJIEBOTO YyMOPAaBICHUS, PEECUYHO-IIECTEPEHYATHIA THII,
MEXaHU3M C [IApOBOW raliKOW, MEXAHU3M C YEPBSAKOM U CEKTOPOM, pyJeBasl COIIKa,
pyJIEBOE KOJIECO, PYJIeBasl KOJIOHKA, 3y04aToe COeIMHEHHE, PYJIEeBasl COLIKA, PhlYaru
MMOBOPOTHOTO KYJIaKa, IIAPHUPHBIE COCAUHEHMUS, PhIYArd U ONIEPEYHBIE TATH

9. Translate into Russian.

1. To guide the car it is necessary to have some means of turning the front wheels.

2. The steering wheel in front of the driver is linked by gears and levers to the
front wheels for turning the car in the direction the driver wants to go.

3. Without using the steering system the car moves only in the direct position.

4. Manufacturers can use rack and pinion type steering gear without choosing
another type because "rack and pinion" type steering is very dependable.

5. Energy-absorbing columns must stop the steering wheel from being pushed to
the rear when the front of the car is damaged in an impact.

6. To turn the car you must have some means of turning the front wheels.

7. For this purpose the steering wheel and steering column are linked to the front
wheels.
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8. The front wheels are on pivots and can be swung to the left or to the right.
9. When the driver turns the steering wheel and column the front wheels (being
on pivots) attached by the steering knuckle arms to the tie-rods are also turned.

10. Complete the sentences using the words and expressions from the text.
1. The front wheels are on pivots so ... .

2. When the steering wheel is turned ... .

3. The steering wheel is linked ... .

4. Most manufacturers use ... .

5. Steering gear may be ... .

6. Steering knuckle arms and wheels are turned ... .

11. Translate into English.

1. JIns1 ynpaBineHus: aBTOMOOMIEM HEOOXOAMMA CUCTEMA PYJIEBOIO YIIPABJICHUS.

2. PyneBoe ynpaBJieHHUE BKIIOYAET B ce0s: pyJIEBOE KOJIECO U PYIIEBYIO KOJIOHKY,
3yOuaToe COeAMHEHUE, PYJIEBYIO COLIKY, phlYaru MOBOPOTHOI'O KyJlaKa U IIAPHUPHBIE
COCIMHEHNUS, PbIYArd U IIOIIEPEYHBIE TATH.

3. CymecTBYIOT pa3jJuyHbIE TUIIBI PYJIEBBIX MEXAHU3MOB, & UIMEHHO: PEEYHO-
[IECTEPEHYAThI THUII, MEXaHU3M C IIAPOBOM TalKOW, MEXAaHU3M C YEPBIKOM MU
CEKTOPOM.

4. Korga BOAauTENs ITOBOPAYMBAET pyJib BJIEBO WM BIPABO, TO PYJIEBOH
MEXaHU3M 3aCTaBIAET PYJIEBYIO COLIKY IIOBOPAYMBATHCS BJIEBO WU BIIPABO.

5. OTO IBMXKEHUE MEPENACTCs MOMEPEUYHBIMU TATAMHU K PhIYaraM IOBOPOTHBIX
KYJIaKOB U K KOJIECaM, 3aCTaBJIsAs UX [I0OBOPAYMBATHCS BJIEBO WM BIIPABO.

12. Are these statements true or false?

1. To guide the car it is necessary to have some means of turning the front wheels.

2. The steering wheel in front of the driver is linked by gears and levers to the
front wheels for turning the car in the direction the driver wants to go.

3. With using the steering system the car moves only in the direct position.

4. Steering gear and linkage may not have any troubles.

5. Energy-absorbing columns don’t provide the driver with a tolerable impact.

6. The front wheels are on pivots and can be swung only to the right.

7. Another manual steering gear which is popular in imported cars is the worm
and sector type.

13. Read the text again and ask as many questions about it as you can. Let
your group-mate(s) answer the questions.

14. Translate the text from English into Russian.
15. Write an essay of the text and render it in English.

16. Read the dialogue and act it out.

Stas: Look here. | have some troubles with the steering system.

Vlad: What troubles?

S.: The first is excessive free play of the steering wheel.

V.. You should check free play of the steering wheel and steering gear
performance.
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S.: The second problem is oil leakage from the steering gear case.

V.: Check the steering gear case for oil leakage visually. Anything else?

S.: Sure. It is disadjustment of the steering gear. And | don't know what to do.

V.: You see, in this case it is better for you to go to a repairing shop. Good
specialists should do this job.

S.: Thank you very much.

V.: Not at all.

17. Reproduce the dialogue in the reported speech.
Check up yourself

1. Complete the following table.

pyJ€BOM  MEXaHU3M  C
IAPUKOBOM FaikOn

worm and sector

KapTep pYJIEBOTO
MeXaHHU3Ma

steering knuckle arm

11aPOBOU LIAPHUP

rack and pinion
assembly

MNepCaAHNEC KOJICCa

steering gear
assembly

. Complete the sentences.

. The steering wheel and column are ... .

. There are several different manual steering gears in current use, as ... .
. The steering wheel in front of the driver is linked ... .

. Steering gear and linkage may have the following basic troubles ... .

. Energy-absorbing columns must ... .

. When the steering wheel is turned ... .

NI WD~ DN

. Write down the sentences in Passive Voice.
. The steering wheel and column, air bags and other devices are the source to
injury the driver.

W
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2. Steering gear of the worm and roller type is adjusted by end playing in the
steering worm shaft bearings.

3. Another manual steering gear which is popular in imported cars is the worm
and sector type.

4. The steering wheel in front of the driver is linked by gears and levers to the
front wheels for this purpose.

4. Write down the sentences in Acive Voice.

1. The steering system incorporates the steering wheel and column, steering gear,
pitman arm, steering knuckle arm, front axle, steering knuckle pivot, tie-rods.

2. The front wheels on pivots can be swung to the left or right.

3. The rack and pinion steering gear is widely used.

4. Energy-absorbing columns must provide the driver with a tolerable impact.

Unit 10

Using Computer

Ever since the car was first invented, a breaker point ignition has been used to
transform battery voltage into 20,000 volts to fire the spark plugs. With government
intervention and regulation, more advanced system was needed. This system had to
meet emission control levels, gas mileage, and provide a smooth and continuous
operation. The answer was found in an on-board computer system. The computer
mounted on modern cars has two components. One is the hardware and the other is the
software.

The computer hardware on an automobile uses a Central Processing Unit (CPU),
which, when made in an integrated circuit, is referred to as a microprocessor. The
integrated circuit (IC) combines transistors, diodes, and capacitors, which are placed on
a tiny chip of semiconductor material that is smaller and thinner that an eraser on a
pencil. The material used most of the time is silicon. Silicon, like any semiconductor,
does not conduct electricity until either voltage, a magnetic field, heat, or light is directed
to the semiconductor. A program instructs the microprocessor what to do.

The computer software on a car carries a program. The program tells the
computer what to do, and when to do it in a specific sequence. The program is stored
in a permanent memory, which is referred to as Read Only Memory (ROM). The
computer knows only what is placed in its memory. There is another variation, which
is called the Programmable Read Only Memory (PROM), which can be readily
removed and replaced, while the ROM cannot. This makes it less expensive if the
memory becomes defective. Only the PROM has to be replaced, not the entire
MICroprocessor.

The microprocessor contains a ROM (or PROM) and a RAM. RAM stands for
Randon Access Memory, which can be accessed without going through a specific
sequence. The technician interfaces with the RAM whenever trouble codes are
accessed. Not all computerized ignition systems have trouble codes, however. Some
computers have the ability to learn. This is referred to as an adaptive memory. When a
value falls outside of a specified limit, due to engine wear, the adaptive memory makes
a slight adjustment in the program to compensate. The car must be driven from 20 to
30 miles, as it takes the computer this long to learn. Any time that power is
disconnected from the computer, it will have to relearn everything.
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1. Read the text, write down the underlined words, transcribe and
pronounce them correctly. Study the words.

2. Find predicates in all sentences and define their tense and voice.

3. Find out the approximate meanings of the following English words by
comparing them to the corresponding Russian ones:

Transform, battery, voltage, regulation, system, computer, microprocessor,
transistor, diod, chip, material, electricity, magnetic, program, defective, limit,
compensate, variation, code

4. Give derivatives.
To invent, to advance, to transform, to conduct, to regulate, to vary, to cool, to teach

5. Give synonyms.
Plenty of, to require, fast, land, to invent, amount, ship, to think, to supply, flat

6. Give antonyms.
Quickly, wide, shortage, to damage, different, strength, at once, huge, large, long

7. Suggest the Russian equivalents.

Gas mileage, semiconductor, smooth operation, permanent memory, PROM -
programmable read only memory, trouble code, adaptive memory, a breaker point
ignition, software, carry a program, a magnetic field, an integrated circuit, to meet
emission control levels, on-board computer system, PROM - Programmable Read Only
Memory, RAM - Random Access Memory, ROM - Read Only Memory

8. Find in the text English equivalents close in meaning to the following.

MPEPHIBUCTOE 3aXKUTaHWE, BOCIUIAMEHSITh CBEYOM 3aKUTraHUs, OTBEYaTh
TpeOOBAHUSIM IO OTPAHUYCHHUIO YPOBHS BPEIHBIX KOMIIOHEHTOB B BBIXJIOIHBIX T'a3ax,
LIEHTPAJIbHBIN Mpolleccop, OOPTOBOM KOMITBIOTEp, allapaTHas 4acTh KOMIIBIOTEPA,
WHTETpajbHas CXeMa, CIelHalibHas TMOCIeA0BaTEIbHOCTh, MOCTOSIHHAS TaMsITh,
NOCTOSIHHOE 3anoMuHaroniee ycrpoicto (I[13Y), onepatuBHast mamsiTh, OnepaTuBHOE
3anomuHaroniee ycrpoicto (O3Y)

9. Translate into Russian.

1. The computer hardware on an automobile uses a Central Processing Unit
(CPU), which, when made in an integrated circuit, is referred to as a microprocessor.

2. Silicon, like any semiconductor, does not conduct electricity until either
voltage, a magnetic field, heat, or light is directed to the semiconductor.

3. RAM stands for Randon Access Memory, which can be accessed without
going through a specific sequence.

4. Only the PROM has to be replaced, not the entire microprocessor.

5. When a value falls outside of a specified limit, due to engine wear, the adaptive
memory makes a slight adjustment in the program to compensate.

6. The car must be driven from 20 to 30 miles, as it takes the computer this long
to learn.

7. The integrated circuit (IC) combines transistors, diodes, and capacitors, which
are placed on a tiny chip of semiconductor material that is smaller and thinner that an
eraser on a pencil.
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10. Complete the sentences using the words and expressions from the text.
1. A breaker point ignition has been used ... .

2. The computer software on a car ... .

3. The computer mounted on modern cars has two components. They are ... .
4. The microprocessor contains ... .

5. A more advanced system had to meet ... .

6. The computer hardware on an automobile uses ... .

7. The integrated circuit (IC) combines ... .

11. Translate into English.

1. MHorue CcOBpEeMEHHbIE aBTOMOOWJIM  OOOpYIOBaHbI  OOPTOBBIMU
KOMITBIOTEPHBIMU CUCTEMAMU JJIA Jy4lieil paboThl aBTOMOOUIIS.

2. Ilporpamma Takoro KOMIIBIOTEpAa HMEET TOJIBKO JBa 3allOMUHAIOIINX
ycTpoiicTBa: noctosiHHyto namsath (I13Y) u oneparusnyto namsts (O3Y).

3. KommbroTepHasi mporpaMma coo0IaeT KOMIBIOTEpPY, YTO HAaJ0 JAenaTh U
KOrJJa HEOOXOAMMO  BBINOJIHUTH JaHHOE JEWCTBUE B  COOTBETCTBYIOILEH
[OCJIEI0BATEIbHOCTH.

4. IIporpaMmma XpaHUTCs B TOCTOSIHHOM NTaMATH KOMITBIOTEPA.

5. Muxkporporeccop CoaepKUT B ce0e NOCTOSTHHYIO U OTIEPATUBHYIO NMaMSATh.

6. HexoTtopbie KOMIBIOTEPHI OO0JATAIOT  CIOCOOHOCTHIO  3allOMUHATH
(3ay4nBaTh). OTO OTHOCHUTCS K AN TUBHOM IMAMSITH.

12. Are these statements true or false?

1. The microprocessor contains a ROM and a RAM.

2. The computer software on a car carries a program.

3. The program tells the computer what to do, and when to do it in a specific
sequence.

4. The program is stored in memory, which is referred to as RAM or Randon
Access Memory.

5. The integrated circuit (IC) consists only of transistors.

6. Silicon like any semiconductor conducts electricity very well.

7. If the memory becomes defective the entire microprocessor has to be replaced.

13. Read the text again and ask as many questions about it as you can. Let
your group-mate(s) answer the questions.

14. Translate the text from English into Russian.
15. Write an essay of the text and render it in English.

16. Read the dialogue and act it out.

Anton: What is the purpose of using computers on board the car?

Vlad: You see. As | know, computer is used to advance the engine operation as
well as the performance of other units.

A.: What components does the on-board computer consist of?

V.. It consists of two components. One is the hardware and the other is the
software.

A.. What is hardware?

V.: The computer hardware uses a Central Processing Unit (CPU) which is
referred to as a microprocessor.
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A.: What is software?

V.: The computer software on a car carries a program. The program tells the
computer what to do and when to do it.

A.: And where is the program stored?

V.: It is stored in a permanent memory which is called Read Only Memory
(ROM).

A.: And what is Programmable Read Only Memory (PROM)? What is the
difference between ROM and PROM?

V.: In case the memory becomes defective PROM can be readily removed and
replaced, while ROM cannot.

A.: And what is RAM?

V.: RAM is Random Access Memory (main memory), which can be accessed
without going through a specific sequence. The technician interfaces with RAM
whenever trouble codes are accessed.

A.: Thanks a lot for your explanation.

V.: You are welcome. See you later.

A.: Goodbye.

17. Reproduce the dialogue in the reported speech.
Check up yourself

1. Complete the following table.

t

3ar1aJIbHBIC CBCYN

ignition

LHECHTPaIbHbBIN
ITPOLIECCOPHBIN y3€Jl

t

13y

on-board  computer
system

[113Y

. Complete the sentences.

. Computer is used to ... .

. RAM can be accessed without ... .

. In case the memory becomes defective ... .
. The program tells the computer ... .

. The program is stored ... .

. The on-board computer consists of ... .

oOWnkWN~=N

3. Write down the sentences in Passive Voice.

1. The adaptive memory makes a slight adjustment in the program to
compensate.

2. The car must be driven from 20 to 30 miles.

3. PROM can be readily removed and replaced.

4. The microprocessor contains a ROM (or PROM) and a RAM.

44



4. Write down the sentences in Acive Voice.

1. The program is stored in a permanent memory, which is referred to as Read
Only Memory (ROM).

2. The computer hardware on an automobile uses a Central Processing Unit
(CPU).

3. A breaker point ignition has been used to transform battery voltage into 20,000
volts to fire the spark plugs.

4. This system had to meet emission control levels, gas mileage, and provide a
smooth and continuous operation.
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TPAMMATHUYECKHWI CIIPABOYHUK

§1. INIATOJI TO BE B SIMPLE (INDEFINITE) TENSES U EI'O

OYHKIHUUA.

['maron TO BE mepeBomutcsi kKak «OBITh, HAXOMWUTHCS, OBITH B COCTOSHUH,
pacnionararbcsi». [maron TO BE nmeet ocoObie hopMbI B HACTOSIIEM, TIPOIIIEIIEM U
OymyieM BpeMeHax, uX CIeAyeT 3HaTh Hau3yCTh.

Cupsizkenue riiaroJgia to be B Simple (Indefinite) Tenses

(B HacTosileM, MpoLIeAIeM 1 OyxyleM BpeMeHH)

P

r

ePresent Indefinite | Past Indefinite | Future Indefinite
S affirmative form

el am I was I (we) shall be
nYou are You were You will be

tHe (she, it) is
P

aWe (you, they) are

He (she, it) was

We (you, they) were

He (she, it) will be
We, you (they) will be

UAre we (you, they)?

S interrogative form

tAmI? Was 1? Shall T (we) be?
FAre you? Were you? Will you be?

U[s he (she, it)? Was he (she, it)? Will he (she, it) be?
t Will you (they) be?

Were we (you, they)?

r negative form

?ll am not (I'm not).
€he (she, it) is not (isn't).
n

Swe (you, they) are not
€(aren't).
S

I was not (wasn't).

he (she, it) was not
(wasn't).

we (you, they) were not
(weren't).

I (we) shall not (shan't)
be.

he (she, it, you, they) will
not (won't) be.

dynknuu riaroja «to be»s npemioxeHun:
a) CMBICJIOBO# TJ1aroJi (T.e. ICPEBOIUTCS «ECTh, SBIIICTCS»).
Hamp: London is the capital of Great Britain. - Jlongon — crosuia

BenukoOpurtanumu.

0) BCIOMOraTeJIbHbIH IJ1aroJ

JUIst 00pa3oBaHUs

AJIUTCIIBHBIX BPCEMCH

(Continuous Tenses) u ctpagatensHoro 3anora (Passive Voice). Hamp: He is watching
an interesting film. - On cmotput unTepecusiit punbpm. The window is opened. - OkHo

OTKPBITO.

B) MOJAJIBHBIH IJIaroJI, TI0CJIe KOTOPOTO TJaroil ynorpeOisercs ¢ 4acThlei
to. Dta dopma ucnonp3yeTcsl A BBIPAKEHHUS 3apaHee 3alIaHUPOBAHHOTO WIIU
(IOJDKEH, HaMepeH 4To-TMOO0 cAenaTh MO IUIaHy, T10
pacrucanuio, mo goroopeHHoctr). Hamp: The train is to arrive at 8.15. - Tloesn
npuxoaut B 8.15 (1Mo pacnucanuio)

T') IJ1aroJi-CBsi3Ka, B 3TOM CIly4yae CBS3bIBACT MOJIJIC)KAIIEE C MMEHHOUN YacThIO
ckazyemoro. Hamp: We are students. - Me1 ctynentsl. He is hungry. - On rosones.

CymiecTByeT psiji BRIpaKeHHiA, T7e riaroi to be He nepeBoauTes, a mpuoopeTaeT
OKpacKy NIeHCTBUS, BHIPAKEHHOTO MpUIaraTeibHbIM (MMEHHAs 4acTh CKa3yeMoro ¢

YCJIOBIICHHOTO  JICUCTBHUS
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rJ1aroJIoM-cBs3Kkoi to be):

to be mistaken - ommbarscs, to be glad - pagoBartbes, to be upset — newanuThes,
to be tired of — ycrars, to be proud of — ropautscs , to be angry — cepauthes, to
be sure — OwITh yBepeHHbIM, t0 be late - omasmgwiBath, t0 be sorry — coxanets, to be
sad — rpyctuth, to be happy — ObITh cyacTIUBEIM.

§2. ITTAI'OJI TO HAVE B SIMPLE TENSES U EI'O ®YHKIUA

['maroxn to have o3nauaer «umets, 006nanatey. [IpemioxkeHus C THM TJIaroJIoM
B PYCCKOM $I3bIKE€ COOTBETCTBYIOT HEONPEACICHHO-INYHBIM 000pOTaM «y MEHsI/Y HETO
ECThY.

Cupsikenne riaroJia to have

B Simple (Indefinite) Tenses

(B HacTosileM, npowmenmemM u Oyaymem Bpemenax) (Present, Past, Future
Tenses)

Present Indefinite | Past Indefinite | Future Indefinite
affirmative form
[ have I had I (we) shall have

You will have
You have You had He (she, it) will have
He (she, it) has He (she, it) had We (you, they) will have
We (you, they) have We (you, they) had
interrogative form
Have I? Had 1?7 Shall I (we) have?

Will you have?
Have you? Had you? Will he (she, it) have?
Has he (she, it)? Had he (she, it)? Will you (they) have?
Have we (you, they)? Had we (you? they)?
negative form
I have no (not any)... I had no (not any)... [ (we) shall not (shan' t)
You have no (not any)... You had no (not any)... have...
He (she, it) has no (not| He (she, it) had no (not | You won't have...
any)... any)... He (she, it) won't have...
We (you, they) have no We (you, they) had no (not | We (you, they) won't have

any)...

dynknuu riaaroja to have B npeaioxKeHun:

a) CMBICJIOBOH IJ1aroJi co 3HauCHHEM «MMeTh, 00s1aaaTh». Hanp: He has many
books. - V nero (on umeet) muoro kuur. | have a fax. (I have got a fax.) ¥ mens ects
daxc.

Have u have got o3nauaer «Biazeth, obmamate». Ho have got — oOoinee
HeOpMaITbHOE, TTOITOMY B pa3rOBOPHOI peur OHO ymoTpeOJiseTcs vaiie, yeM have.
Have ymotpebnsieTcss B opunmanibHoii 060CTaHOBKE W Ha MucbMe. B ganHOM citydae
JUTS. BOIIPOCHUTEIBLHOM M OTpHUIaTeNIbHOM (hopMbl HYkeH riiaroi to do. Hamp: Do you
have a fax? - | don't have a fax. Have you got a fax? - | haven't got a fax.

0) BcmoMoraTeJbHbBI| IJ1aroJ Jijis 00pa3oBanus nepPekTHeIX BpeMeH (Perfect
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Tenses) c¢ Participle 1l (. e Ttperbeit dopmoii rmarona). Jlus oOpa3oBaHus
BOIPOCUTENBHBIX U OTPHUIATEIbHBIX MPEIOKCHHUN B TOJOOHBIX ClTydasx riaroi to do
He ynotpebisiercsa. Hamp: They have already written the test. Onu yxxe Hanmcanu
tect. Have you written the test yet?

B) MOJAJIbHBIH TIJIAroJ, IOCjAe KOTOPOro HH(GHHUTHB YHOTPEOseTcs ¢
vactuiei t0. OTpunaTensHas U BONPOCUTEIbHAsS (OPMBI 00Pa3yIOTCs MPH TTOMOIIH
rinaroja to do. Hanp: My friend is ill and I have to visit her every day. - Mos noapyra
00JIbHA, M MHE IPUXOIUTCS HaBeIaTh ee Kaxabii aeHb. WWhy do you have to visit your
friend so often? - [Touemy Bam npuxoauTcs HaBelaTh MOAPYTY KaKIbIH JCHb?

r) yacTh ¢pa3oBoro cKkasyemoro, B KOTopoM have tepser cBOil CMbICT M HE
nepeBoanTcs. Eciu B 3THX ciiydasix cieayroiiee 3a riiaroiom have cymecTBUTeIbHOe
CTOHUT C apTUKJIEM a (an), TaKOe COYEeTaHHE BhIPaXkaeT OJHOKPATHOCTh JACHCTBU.

Hamnp: to have tea (coffee, milk) mute gait (kode, MosoKo);

to have breakfast (dinner, supper) 3aBrpakaTth (00e1aTh, YKHHATH);

to have a talk — meperoBopuTs;

to have a walk — mporyssiTbes;

to have a rest — mepe10OXHYTh;

to have a look — B3ryIsIHYTE;

to have a discussion — oGCYIUTb.

Jlns 0Opa3oBaHKs BOIPOCHTEIBHBIX M OTPHUIATEIBHBIX MPEIIOKEHUH, KOTaa
riaros have siBisieTcs 4acThio (pa3oBOro ckazyeMoro, ynorpebdisercs riaaroa to do.
Hamnp: Do you have tea or coffee in the morning? - Tel nmbemts yTpom Yait nin koge?

§3. OCHOBHBIE ®OPMbI I'/TAT'OJIA

(FOUR FORMS OF THE VERB)

AHTIUNACKUN Tyaron umeerT 4 OCHOBHbBIC (DOPMBI:

—Wndunutus (Infinitive). besz yactuiier 10 3Ta popma rinaroiga Cayx T is
oOpa3oBaHUsl ~ HACTOAUIETO W OymyIero HEOIPEJEIEHHOTO  BPEMEHH
JICUCTBUTEIILHOTO 3aJIora;

—IIpomenmee HeonpeneneHnoe Bpemsi (Past Simple). Dra  dopma
UCTIONIB3YETCSl i1 OOpa3oBaHMsl COOTBETCTBYIONIEH BHI0-BPEMEHHOH (OPMBI
NENUCTBUTENBHOTO 3aiora. OHa oOpasyercs NpU MNOMOUIM MPUOABICHHUS OKOHYAHMS
-ed k mepBoit (hopMme TrIIarosna;

—IIpuuactue mnpomenmero Bpemenu (Participle Il). Cnyxur s
oOpazoBanusi TephEKTHBIX BHUJIO-BPEMEHHBIX (OPM ACHCTBUTENBHOTO 3ayiora (co
BCIIOMOTATE/IbHBIM TJ1aroyioMm t0 have) u pasiuyHbIX CIIOKHBIX BHI0-BPEMEHHBIX
(GopM cTpaaarenbHOTO 3aj0ra (CO BCIIOMOTaTeIbHBIM Tiarosiom to be) u, kak u Bropas
dopma, oOpasyercss MmpH MOMOIIM HpUOaBiIeHHUS OKOHYaHus -€d k mepBoil opme
rJaroa,

—IIpuyacrue Hacrosimero Bpemenn (Participle I). Dta gopma ciryxut s
oOpa3oBaHMs JUIMTEIBHBIX BHJIO-BPEMEHHBIX ()OPM HACTOSIIETO, MPOIICANIETO H
OyayIiero BpeMeHH M 00pa3yeTcsi MPH IMOMOIIU MPUOABIICHUS OKOHYAHHS -INQ K
nepBoil popme TIaroa.

Hamp: live — lived — lived — living

Oto oTHOcHUTCS K mpaBWwiIbHbIM Tiaarojam (Regular Verbs), kortopsie
COCTaBJISIFOT OOJBIIYI0 YacTh AHTVIMHACKHUX TJarosioB. HempaBWibHBIE TJIAroJbl
(Irregular Verbs) o6pa3zyror dhopmy NpOIIEAIIero HEONPEACIICHHOTO BPEMEHU |
NpUYACTUE TPOIIEANIETO BPEMEHU 10 0COObIM TpaBuiaM. DopMbl HEMpPaBUIBHBIX
TJIaroJIOB MPEICTaBIICHBI B TAOJIHUIIE (BCETAa CMOTPH B KOHIIE CIIOBapS).

Hanp: do — did — done — doing.
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THE FOUR FORMS OF THE VERB (YETBIPE ®OPMBbI I'JIAT'OJIA)

Hnpunumues IIpoweowee Ilpuuacmue Ilpuuacmue

(neonpedenennas | npocmoe npouieoule2o Hacmosue2o

Gopma enacona) P 8pemMeHU spemenu Participle
@mo coenan?) Participle 11 I

(umo denams?) S

to have had had having

to be was/were been being

to help helped helped helping

to ask asked asked asking

§4. HTHOMHUATUB (INFINITIVE)

1. ®opmbl HHPUHUTHBA U UX NEPEBOT

Indefinite Active zo do

Indefinite Passive to be done

JICHCTBHE OIHOBPEMEHHOE C JCHCTBUEM
CKa3yeMoro (B JJUYHOU (opme)

I am glad to help you.

S pax nomoub Bam.

She was glad to be helped by me.
Omna Obl1a pajia, uTo s € MoMor.

C

gleiicTBME B TMpOIECCE €Tr0 Pa3BUTHUS
0IHOBPEMEHHO C JIEVCTBUEM
tkazyemoro (B JIMYHOU popme)

I was glad to be helping them at that time.
S ObLI paj, 4TO TOTAa HOMOTAJl BaMm.

Perfect Active o have done

Perfect Passive fo have been done
JEHCTBHE,  KOTOPOE  TIPEIIICCTBYET
JICHUCTBHUIO, BBIPAKEHHOMY CKa3yeMbIM

She is glad to have helped him.

OHa pana, 4TO ITOMOITIa EMY.

I am glad to have been helped by you.
S pax, 4TO BB IOMOTJIM MHE.

2. ODynknun UHQUHUTUBA

B npennoxenun MHOUHUTHUB MOXKET OBITh:

1. mopseskammm: €. . To walk in the garden was pleasant. - I'yiate B camy
OBLIIO MPUSATHO.

2. ompenesenueM: €. . The amount to be paid includes the cost of packing. -
CymMma, KoTopast TOJDKHA OBITh yIUIa4eHa, BKIIFOYAET CTOUMOCTD YITAKOBKH.

3. npsaMbIM TonoJHeHueM: €. g. He asked me to wait a little. - On mompocun
MEHSI HEMHOTO TT0JI0K/1aTh.

4. IMEHHOI YacThI COCTABHOT0 HMEHHOI0 cKka3yemoro: €. g. The duties of a
student are to attend all classes, to do all tasks and so on. - B o0si3anHOCTH CTyIEeHTA
BXOJIUT - TIOCEIIATh BCE 3aHATHS, BBIIIOJHATD BCE 3aaHMs U T.JI.

5. 4acThI0 COCTABHOTO IJIar0JILHOT0 cKa3zyemoro: €. . They must be doing it
now. - OHK TOIKHO OBITH ceituac 3To nenarot. He doesn't like to be interrupted. - On
He JI00uT, yTOOBI ero nepedusanu. | am happy to have been invited here. - S panx, uto
MEHSI CIOJ[a PUTIIACHIIH.

6. obcTosiTetbeTBOM 1esH, ciaencTBus: €. ¢. In 1980 to meet the increasing
demands for highly qualified specialists Bryansk Agricultural Institute was formed. -
UToOB! yIOBIETBOPUTH BO3PACTAIOIINE TOTPEOHOCTH B BHICOKOKBATH(DUITUPOBAHHBIX
cnenuanucTax, B 1980 romy 6n11 opranusosad BCXMU. It is too cold to go for a walk
today.- CeroiHs CIUIIKOM XOJIOIHO, YTOOBI T'YJISITh.
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§5. MPUYACTHUE | (PARTICIPLE I), EI'O ®YHKIIUHA

Active Passive
Indefinite Participle . -
(Participle 1) asking being asked
Past Participle
(Participle 11) asked
Perfect Participle having asked having been asked

B aHrnmiickoM si3bIke, Kak 1Mo (opme, Tak ¥ 1O 3HAYCHHUIO, BBIJCIISACTCS Ba
npuuactus: npuyactre | (Participle 1) u npraactue Il (Participle 11).

IMpuyactue | B aHrmuiickoM s3bIke oOpasyeTcs OT JoO0ro Tiarojia
MPUCOCTMHCHNEM K OCHOBE TJlarojia OKOHYaHWsS — INQ, Ha PYCCKUU SI3BIK TaKHe
MPHYACTUS TIEPEBOAATCS COOTBETCTBYIOIIMMH JCHCTBUTEIBLHBIMA HPHYACTHIMH -
ompenesIeHUsIMHU ¢ cydPpuKcamu - yIII FOIII, aril/si.

e.g.He watched the falling snow. On cmoTpen Ha naaroIuii CHer.

[Ipuuactue | ynorpebisercs niasi oOpa30BaHMs CIIOKHBIX TJIAroJbHBIX (opm
rpymmel Continuous (Progressive): | am (was/shall be) writing. - S mumny (nmucan/0ymy
MHCaTh).

Byay4ur mpoMeKyTOYHBIM paspsjioM MEXKIy TJIarojioM, NpuarateilbHBIM H
HapeyreM, TpUYacTHEe B TPEUIOKCHUH BBICTyMaeT B 0a30BBIX  (PYHKIHSIX
npuiaratebHoro U Hapeuus. [Ipuaactue | MokeT BBITIOIHATE CIICIYIONINE (PYHKITHM

- onpenenenus: €.g. The falling leaves cover the ground. IMapatorue TUCTbs
HOKphIBatOT 3eMitro. The girl sitting on the bench is very attractive. /leByiika, koTopas
CHJINT Ha CKaMelKe, OUeHb KpacHBasl.

- oOcTosITeNnbCTBA (BpEMEHU, MTPUYMHBI, 00pa3a MEeHCTBUS, CPAaBHEHUS U T.II.) C
corozamu While, as if, as though, though, if ): e.g. Taking ink, she began to write.
CxBatuB 4epHWIa, oHa Hadana mmcath. If being invited I'll go there.- Ecim mens
NPUTIIACAT, 5 TIOWIY Ty/a.

- YacTu cjoXxHoro ckazyemoro (rpymmer Continuous): e.g. He is watching an
interesting film now. Ceituac OH CMOTPUT HHTEPECHBIN (HHITEM.

qacTu 00opoTa «ciokHoe aomnoiHeHue» (Complex Object): e.g. | saw him
crossing the street. - 51 Bumen, Kak OH MEPEXOAN YIIHILY.

- BBOJTHOM YacTH MPEIOKEHUS (OJHO IPUYACTHE HUKOTIa HE YIOTPeOIIeTcs B
stoit pynkiun): e.g. Generally speaking, | don't like such people. - Boo01iie roBops, st
HE JIFO0JIIO TaKUX JIFOAEH.

§6. MIPUYACTHUE Il (PARTICIPLE Il), EI'O ®YHKIIUHN

Ipuuacrue 1l (Participle IlI) B anrmuiickom s3bIke MO CBOeH Gopme
COOTBETCTBYET  TpeTheld OCHOBHOW (opme riarona (MpUYACTHUSI TMPABUIIBHBIX
IJIaroJjioB 00pa3yroTCs PU MOMOIIY OKOHYaHUsT — ed; HenmpaBIIbHBIX - H3MEHCHUEM
KOPHEBO# riacHoi (t0 Sing — sung), u3MeHeHHEM KOPHEBOM IIIaCHOW M PpUOaBICHHUEM
okoHuanusi - en (to speak — spoken), uM3MEHEHHEM KOPHEBOH  IJIaCHOH H
npubasiennemM okondanus - d wim —t (to build — built), 6e3 Bcskoro u3menenus (to
put — put) u cyrmuretusHo (t0 go — gone , to be — been).

[Mpuuactue |l (Participle 1) cooTBeTcTByeT pycCKOMYy CTpafaTelbHOMY
MIPUYACTUIO HACTOAIIETO BpeMeHU ¢ cypdukcamu -eM/uM, MPOIMICIIEr0 BPEMEHH C
cypdukcamu —HH/-T, a TaKke NEHCTBUTEIBHOMY MPUYACTHIO CO CTpaJaTebHBbIM
3HAYEHUEM, OKAaHUYHMBAIOIIEMYCsl HA — BII(HIICS).
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®ynknuu npudactus || B npenoxeHuu:

1. Onpenencuus : e.g. The fallen leaves covered the ground. Ymapmme mucths
HOKPBLIH 3EMJTIO.

2. OGcrosiTenbcTBa (BpeMEHHU, MPUYUHBI, 00pa3a AeWCTBUA, CPAaBHEHUS U T.1.),
(B aToii pynkmm mpmuactue |l ciaemyer 3a corozom when, while, if, though, etc.):
e.g. If invited I’ll go to this party. - Eciu MeHs Ipuriiacar, To 5 MOy Ha BEUCPHHKY.

3. yacTtH ckazyemoro (st 00pa30BaHUsl CIOXKHBIX TJIArOJbHBIX (HOPM TPYIIIIBI
Perfect u Bcex BpemeH riiaroja B crpaaareiabHoM 3aiore (Passive Voice): e.g. | have
(had/ shall have) written. - S manucan (manumry). | am (was/ shall be) asked. - Mens
CIpAIIXUBAIOT (CHPOCUIIH, CIIPOCST).

4. gyact obopoTa «cioxHoe aomonHenue» (Complex Object): e.g. When | saw
him so confused | realized everything. - S Bcé moHsu1, Korja yBHIEN €ro TaKUM
CMYILLIEHHBIM.

§7. TPYIIIA HEONPEAEJiEHHBIX (IIPOCTBHIX) BPEMIiH
(INDEFINITE (SIMPLE) TENSES)

Bpemena rpymmer Simple (Indefinite) ykaspiBator Ha TO, 4YTO JCHCTBHE
COBEPIIIAETCS, COBEPIIATIOCH WJIM COBEPIIMTCS BOOOINE, 0€3 yKa3zaHUs Ha XapakTep
MIPOTEKaHUs JIeHCTBUsI, 0€3 YTOYHEHHUS YCIOBHUH W OE30THOCHUTEIBHO K JPYromy
JNEUCTBUIO WM MOMEHTY (T.€. HE CBS3aHBI C OMNPEACICHHBIM MOMEHTOM,
KOHCTaTUPYIOT (PaKT COBEPIICHUS ICUCTBUS).

Oopa3oBanmue:

Present Simple (Indefinite): B yrBepautensHoii Gopme riaros Bo BceX JUIAX
U YKCIIax, KpoMe 3 JIMIla €IMHCTBEHHOTO Yucia, coBmnaaaet ¢ GopmMoil HHPUHUTHBA
aTOro Tiarojia 0e3 gactuibl t0. B 3-em nwme eIMHCTBEHHOTO 4HCIAa K TJIaroiy
npubaBisgeTcsi OKOHYaHue — s (Mocyie coriacHeX s, ch, sh okoHuanue -es: pass —
passes). B BonpocuTensHON U OTpHUIIaTeIbHON (hOpME TJIaroyi-ckazyeMoe COCTOUT U3
BCrioMoraTtenabHoro raaroiya does (st 3 1. ef.4.) uinu do (1 BceX OCTalbHBIX JIUIL U
9yuceNn) U CcMmbIciaoBoro riaroja (B dopme uHuHHTHBA 03 wacTuiel to). B
BOIIPOCUTEITLHOM  TIPEIJIOKCHUH BCTIOMOTATENbHBIA TJIATOJI  CTAaBUTCS  TIEpen
MOJ/JIEXkKAIINM, a CMBICIIOBOH TIJ1aroi nocie nojajiexainiero. B orpunarensHoi popme
CIIENYIONMNA TOPSIOK CJIOB: TMOJJIeKallee - BCIOMOTATENbHBIA IJ1aroia -
OTpUIIaTeIbHAs YacTHIA NOt - CMBICJIOBOW TJIArOJI — JPYTHUE WICHBI TPEIIOKCHHUS.
Hamp:You get up at 6 o’clock every day. When do you get up every day? You do not
get up at 6 o’clock every day. He gets up at 7 o’clock every day. When does he get up
every day? He does not get up at 6 o’clock every day.

Past Simple (Indefinite): B yrBepauTenbHO# hopMe K MPaBUIBHBIM TJIarojiaMm
nobapisieTcss OKoHYaHue -ed; GopMy HENMpPaBUIBHBIX IJ1arojioB CIEAyeT 3allOMUHATh
HAU3yCTh (CM. TabnHIy). B BOpOCUTETFHOM M OTPHUIIATEIHFHOM TPEIJIOKCHUH TJ1aroJ-
CKa3yeMoe COCTOUT W3 BcromoraTesnbHoro riarona did (st Bcex JUIl ¥ 4ucen) U
CMBICJIOBOTO TJarosa (B popme nHpuHUTHBA O€3 yacTuilbl t0). Hanp: He watched TV
yesterday. Did he watch TV yesterday? He didn’t watch TV yesterday.

Future Simple (Indefinite): B yTBepaWTEIbHOH, BOMPOCHTEIBHON U
OTpULIATEIBLHON (OpPME TJIAroji-CKazyeMoe COCTOMT W3 BCIIOMOTATEJILHOTO TJIaroJa
shall (mst 1-ro nmuma ex. u MH. 9) vtk will (U1 Bcex oCTaabHBIX JIUIT) ¥ CMBICIIOBOT'O
riaroyia. B yTBepauTenpHOW (opMe BCIOMOTATENBHBIA TJIaroJl CTaBUTCS IOCHE
MOJIJISXKAIIETO | Iepe]] CMBICIIOBBIM TJ1arojoM. B Bompoce - mepen

noutexarntum. Hamp: | shall be at home this evening. Will you be at home this
evening? | shall not be at home this evening.
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Ynorpebdiaenue:

1. nns koHcTaTanuu obnien3BecTHRIX (haktoB. Hamp: The Earth goes round the
Sun. 3emuts Bpamaercs Bokpyr CoHIa.

2. s BBIPAXKEHMS IOCTOSHHBIX, PEryJIIPHO NOBTOPSIOIIUXCA JCHCTBUM B
HaCTOSIIEM, TporreaineM u oyaymem Bpemern. Harp: He does not drink (drank, will
not drink) coffee in the morning. O He nbeT (1uI1, He OyIET MUTh) YTPOM Kode.

3. WA NEepedYMCIeHus MOCIEN0BATEIbHBIX IEUCTBUM, KOTOPBIE IPOUCXOIAT
MOCTOSIHHO, YacTO B HACTOSIIEM, MpoleanieM u Oyaymem Bpemenn. Hamp: | usually
get up, dress myself, have breakfast and go to school in the morning. - YTpom 00braH0
s BCTal0, 0JICBAIOCh, 3aBTpaKaro U Uy B mkoiy. Last year | got up, dressed myself, had
breakfast and went to school in the morning. — B mporutom rogy yrpom s BCTapall,
oneBajics, 3aBTpakai u 1men B mkoxy. Next year | shall get up, dress myself, have
breakfast and go to school in the morning - B ciexyromem rogy yrtpoMm st Oymy
BCTaBaTh, OJIEBATHCS, 3aBTPAKATH U XOAUTH B IIKOJY.

Indefinite (Simple) Tenses. Active Voice
Heonpenenennoe Bpems. /leiicCTBUTEIbHBIN 32J10T

Present Past Future
He writes letters every | He wrote the letter | He will write the letter
week. yesterday. tomorrow.

wrote
writes did write will write
does write

Did he write the letter
Does he write letters every | yesterday? Will he write the letter
week? tomorrow?

He did not (didn't) write
He does not (doesn't) write | the letter yesterday. He will not (won't) write
letters every week the letter tomorrow
ITIOKA3ATEJIM BPEMEHU
Present Past Future
HACTOSIIEE BPpEMSI MPOLLIEAIIEE BPEMS Oynyiiee BpeMs
today; every | yesterday; last | tomorrow; next
day/week/year; seldom; | week/month; 3 days ago; a | week/year/month; in 3
usually; sometimes; | week ago, 2 years ago; in | days; in future; in an hour;
always; often 1998 in a moment, in 2013

§8. FTPYIIIA JJIUTEJBbHBIX BPEMEH
(CONTINUOUS (PROGRESSIVE) TENSES)

Bpemena rpynmer - Continuous (Progressive) yka3bIBarOT Ha TO, YTO JCHCTBUE
COBEPILAETCSI, COBEPIIAIIOCH MIIM COBEPIIIUTCS B OTIPEIEIICHHBI MOMEHT BPEMEHH, YTO
OHO JUTMTCS KaKOH-TO MPOMEXKYTOK BPEMCHH, T.C. JACUCTBUEC PacCMATPUBACTCS Kak
nporiecc.

Oo6pazoBaHnne:

Present, Past, Future Continuous o0pa3yroTcst IpH IMOMOIIU BCIIOMOTaTeILHOTO
riarojia t0 be B cooTBeTCTBYIOIIEM BpEMEHH, JIUIIC M YHCIIE (aMm, IS, are -B HaCTOSIIEM
BpeMeHu; Was, were - B mporniesiieM Bpemenu u shall be/will be B 6yaymiem Bpemenn)
u npuyactus |.
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to be + Participle |

B BompocutensHoit (popme BCIOMOTraTeNTbHBIN I71aroj CTaBUTCS TIEPE] MO ICKAILM.
B orpunatensHOil - yacTiia NOt CTaBUTHCA MEXKIY BCIOMOTAaTElIbHBIM M CMBICIOBBIM
riarosioM. Harp: The children are (were, will be) playing in the yard. Where are (were, will
be) the children playing? The children are (were,will be) playing in the yard.

YnorpeoJenue:

1. nJist BBIpaXeHust AEHCTBUS, JISIIETOCs B JAHHBI MOMEHT PE€YH B HACTOSAILIEM,
nporeaiieM u Oyayiem Bpemenu. Hamp: It is (was, will be) raining now (then, at
this moment tomorrow). Ceiiuac (Toraa, B 3T0 BpeMsi 3aBTpa) UACT A0XKAb (11es1, OyaeT
WUJITH).

2. g BBIPQKEHUS BPEMEHHOIO JCWUCTBUS, NPOUCXOISAIIETO B KAKOM-TO
OIpe/ICIICHHBIA TIEPHOI B HACTOSIIEM, IporreaeM u OymymemM. Hanp: We are (were,
will be) living in a hotel until we can (could, can) find a house to buy. - M1 xuBeM (kuH,
Oy/1eM >KUTh) B TOCTUHUIIE JI0 TEX MOP,I0Ka HE CMOXKEM (CMOTJIH, CMOKEM) KYITUTh JIOM.

3. s BBIPQXEHUS JCUCTBHS, KOTOPOE SIBJISIETCS TMOCTOSTHHOM MPUBBIYKOM.
Hamp: | am (was, shall be) wearing a hat when it’s too sunny. S Homty (Hocu, Oyy
HOCHTb) LUISIMY, KOT/Ia CIUIIKOM COJTHEYHO.

4. nna BBIpaXEHUA JE€UCTBUI, HaMEUYEHHBIX Ha Onwxkailiiee Oynaylee,
3alIaHMPOBaHHBIX 3apaHee (Tosibko st Present Continuous). Hamp: I’'m leaving
tomorrow. My train is at 8.30. S ye3xaro 3aBTpa. Moii moe3a B 8.30.

OcHOBHBIE TPyNnbl IJAT0J0B, KOTOpPble OOLIYHO HE YNOTPeOJsiIlOTCH B
NJINTEeJIbHbIX BUA0-BPeMEHHBbIX GopMax:

1. Tnaroimel, O3HAYAIONIME MBICIUTEIBHYIO IesATeIbHOCTL. Delieve, think,
assume, consider, understand, suppose, expect, agree, know, remember, forget.

2. raronibl uyBctBa: like, love, detest, hate, hope, prefer, wish, want.

3. rmaroJjel BocpusaTus: see, hear, taste, smell.

Continuous (Progressive) Tenses Active Voice
JuurenbHoe BpeMs. JleCTBUTEIbLHBIN 32J10T

Present Past Future
He is writing the letter | He was writing the letter | He will be writing the
now. at 5 yesterday. letter tomorrow  after
supper.
was writing
is writing will be writing

Was he writing the letter at

Is he writing the letter | 5 yesterday? Will he be writing the letter

now? tomorrow after supper?

He is not (isn't) He was not (wasn't) | He will not (won't) be

writing the letter writing the letter at 5| writing the letter after

NOW. yesterday. supper.
INOKA3SATEJIM BPEMEHHU

Present

HaCTOAIMICC BPCMA

MIPONIEIIIEe BPEMS

Oynyiiee BpeMs

now, at present, at the
moment

from 9 to 11 yesterday, at
5 yesterday, all day long,
when | came

at 8 tomorrow; at 8 on
Friday, from 5 to 6
tomorrow, all day long
tomorrow
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§9. TPYIIIIA COBEPIIEHHBIX BPEMEH
(PERFECT TENSES)

Oo0pa3oBanmue:

Bpemena rpymibt Perfect o6pasyroTcs mpy moMoIy BCIOMOTaTEIBHOTO TI1arojia
to have B coorBerctBytomeM Bpemenu (have, has - B macrosiem Bpemenu; had - B
npomreamem Bpemenu u shall/ will have B 6ynymem Bpemenn) u npuuactus 1.

to have + Participle 11

B BompocurensHON (opMe BCIOMOTaTeNbHBIM TJAroil  CTaBUTCS Mepen
noJyIeXxaiuM. B oTpuaTenbHoi - yactuia NOt CTaBUTCS MEXKIY BCIIOMOTATEIbHBIM
U CMBICJIOBBIM T1arojioM (B oyaymem Bpemenu mocsie (Shall/will). Hamp: | have (had,
shall have) read this book already.

Have (had, shall you have) you read this book yet? | have (had) not (shall not
have) read this book yet.

Ynorpeodienue:

Hacrosimiee coBepienHoe Bpems (Present Perfect) Beipaxaer cBs3b JeHCTBYS,
KOTOPOE YK€ MPOM30IIIO, COBEPIINIOCH, C HACTOAIIMM MOMEHTOM peyH (MMeeTcs
pe3yabTaT) WK O003HAYCHUE ICUCTBUS B OTPE3KE BPEMEHH, KOTOPBIA HAayalics B
IPOIIIOM M TPOJIOJDKAETCS B MOMEHT BBICKa3bIBaHWs MbIciu. Hamp: Have you ever
been to America? Tel kormga-HuOyab Obl1 B Amepuke? (JKW3HEHHBIH OIBIT JI0
Hacrosiero MmoMeHTa). | have read this book already. S yxe npounrtan 3Ty KHUTY.
(pe3ynbTar - s 3HaI0 ee CoAepIKaHue).

[pomremmee coBepriennoe Bpems (Past Perfect) Beipaxkaer apericTBue, KOTOopoe
y’K€ COBEpIIMIIOCH O OMPEIeIEHHOIO0 MOMEHTa B IMPOLUIOM, WJIH paHee APYroro
JEeWCTBUSI, WMEBIIET0 MECTO B mpouuioM. PaHee coBepmiuBineecs JeHCTBHE
BhIpakaeTcsi BpeMeHeM Past Perfect, 6osee mo3aHee aelicTBUE B IPOIIIIOM CTOUT B Past
Simple. Harip: When | arrived he had already left. Korna s mpuexain, oH yxe yexain
(mepen Tem, Kak s mpuexain).

bynymee coBepmenHoe Bpems (Future Perfect) Beipaxkaer neiicTBue, KOTOpoe
OyzeT 3aKOHYEHO JI0 OTNpeIeIeHHOro MoMeHTa B Oymymiem. Hanp: He will have come
back home by 3 o'clock. On npuner qomoii k 3 yacam.

Perfect Tenses. Active Voice
Cosepmiennoe Bpems. [leiicTBUTEbHBIN 32J10T

Present Past Future
He was written the letter | He had written the letter | He will have written the
already. when the phone rang. letter by that time.
Will have written
had written
has written Will he have written the
letter by that time?
Had he written the letter
Has he already written the | when the phone rang? He will not (won't) have
letter? written the letter by that

He had not (hadn't)|time.
written the letter when the
He has not (hasn't) written | phone rang.

the letter yet.
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INHOKA3ATEJIM BPEMEHU
Present Past Future
HACTOSIIIEE BPEMSI MpOoILIEAIIee BpEMS Oynyriee BpeMs
just; vyet; already; ever; |by ..o'clock yesterday; | by the end of the year; by
never; by...o'clock; lately; | hardly; nearly; barely; | tomorrow;

recently; this | scarcely; when... before the classes begin
year/week/month; for;
since

§10. CTPAIATEJIBHBIN 3AJIOI (PASSIVE VOICE)

B aHrIMHCKOM SI3bIKE TJIAT0JIBI MOTYT UMETh 2 3a510ra; NeicTBuTebHbIH (Active
Voice) u crpamarenpHbiii (Passive Voice). I'maronm B IeHCTBUTEIBHOM 3ajI0Te
MOKa3bIBACT, YTO IMOJJICKAIIEE SIBIACTCS ICHCTBYIOIINM, AKTUBHBIM JIMIIOM, T.C.
coBepIlaeT AeicTBue. ['1aroi B ctpagaTebHOM (TACCHBHOM) 3aJI0T€ TIOKa3bIBAET, YTO
HoJIeXKaIlee IBISETCS 00BEKTOM JIeHCTBHS (T.€. MACCHMBHO, HE JICHCTBYET caMo), Ha
Hero HampasieHo aericrBue. Hanp: Yuri Dolgoruky founded Moscow 8 centuries ago.
- FOpwuii Jlonropykuii ocHoBai MockBy 8 BekoB Hazan. (Active Voice) Moscow was
founded 8 centuries ago by Yuri Dolgoruky. - MockBa Obliia OCHOBaHa 8 BEKOB Ha3ajl
FOpuewm Jlonropykum. (Passive Voice)

CTpagaTenbHbIH 3aJ10T YIIOTPEOIAETCS B TeX CIIydasx, KOTJa Hac HHTEPECyeT He
JIMIO WM TIPEIMET, COBEpINaroNiee ACHCTBHE, a JUI0 WM MPEAMET, Hal KOTOPHIM
COBEPILIAECTCS JICVCTBHE.

Oobpa3oBanne:

dopma CcTpagaTenbHOrO 3aj0ra 00pa3yeTcs ¢ MOMOIIBI0 BCIOMOIaTeIbHOIO
riarosa to be B cooTBeTcTBYOIIEM BpeMeHH 1 npuyactus || cMbicioBoro riarosna.

to be + participle Il

Hanp: Every problem was solved. Kaxxaas npoGsiema Obliia pemieHa.

Passive Voice

Indefinite Continuous Perfect

CITPALIMBAIOT 0OBIYHO, | CIPAILIKUBAIOT ceiyac, CITPALIMBAIOT yKe
BCEra, KaXXbli JICHb BCE elIle (pe3yabTar)

a

m am (is, are) being | h

i asked a

CIIPOCHJIM BYEpPa, KOTJIA-TO | CIIpalllMBaii, KOTJa s | COPOCHIIM, ObUT CIPOIIEH
B MPOIILJIOM npuexai K TOMY MOMEHTY, YK€

had been asked
was/were asked

W
CITPOCHIT, BMECTO OTCYTCTBYIOIICH | CIIPOCHT,
OyIeT CpOIIIeH 3aBTpa dbopmel Future Continuous OyZmeT chopomieH K
y TOMY MOMEHTY
i
will be asked 0 will have been asked
be V3 be being V3 have been V3
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Ynorpebdaenue:

CrpanarenbHblid  3a70T B NOPEMJIOKEHUU YIOTPEOJSIETCS TOrjaa, Korjaa
roBopslui 1100 HE 3HAET, KTO COBEpIIaeT JAeUCTBUE, JIMOO HE MPHUAAET ITOMY
3HaueHusi. OJIHAKO €CIM BO3HUKAET HEOOXOJMMOCTh HAa3BaTh JIMIIO, COBEPIIMBIIICE
JeHCTBHE, TO yIoTpeosieTcss 000poT ¢ peiorom by. [pemmor with ynorpednsercs,
KOT'/Ia Ha3bIBA€TCs MPEIMET, TOCPEICTBOM KOTOPOTO COBEPILICHO JICHCTBHE:

e.g. The window was opened by Nick. Okro 0b110 0TKpBITO KOJTEeH.

e.g. The water-melon was cut with a knife. ApOy3 ObLT pa3pe3aH HOMKOM.

Cy1iecTByIOT pa3JinuHble CrIOCOObI MEPEeBO/Ia Ha PYCCKUM S3bIK MPEAJIOKEHUH B
CTpaJlaTeIbHOM 3aJI0re:

1. IlpennoxkeHneM ¢ riarojioM-cKazyeMbIM Ha -Csi/-Ch (CTpOSITCS, CTPOUIIUCH,
OyAyT CTPOUTHCH).

2. IlpenmokeHHWEM CO CKa3yeMbIM, BBIPQXEHHBIM TJIATOJIOM «OBITH» B
COOTBETCTBYIOIIEM BPEMEHH M KPATKUM CTPAJATEIbHBIM MPUYACTUEM CMBICIOBOTO
riiaroJia (OCTPOEHbI, ObLTN/OYIyT MOCTPOCHBHI).

3. Heonpenen€HHO-TUYHON KOHCTPYKIMEH, T.€. MNPEIJIOKEHUEM, TNI€ HET
MOJJIEKAILIETO, HO OHO TO/Ipa3yMeBaETCsl.

Hamp: New houses are built in Moscow. 1. HoBeie noma ctpositcss B Mockse. 2.
B MockBe nocTpoeHbl HOBbIE AoMa. 3. B MockBe CTpoAT HOBBIE IOMA.

§11. TEPYHU (GERUND), ETO ® YHKIIUU

B anrmumiickoM s3bIKk€ CYIIECTBYeT HeiauyHas (opma riaroja, KoTopas
BbIpa)KaeT JIeWCTBHE B IIpoIlecCe W codeTaeT B cebe CBOWCTBa TJaroja u
CYILIECTBUTENBLHOTO. Tak Kak B PyCCKOM SI3bIKE€ aHAJOTUYHOU (OPMBI HET, FepYHIUN
TMEePEBOUTCS, KAK TPABUIIO, CYIIECTBUTEIBHBIM, TJIATONOM HWJTH JECNPUIACTHEM.
I'epyHauii oOpasyercst OT HEONPEACICHHON (DOPMBI riaroyia myTeM HpI/I6aBJ'IeHI/I$I
okonuanus -ing. Hamp: Solving this problem is very difficult. - Permenue sroii
po0JIeMbl (PEIIUTh ATy MPOOIEMY) - OUEHBb TPYIHAS 3a/1aya.

I'epynauii umeer ciaeayronue CBOMCTBA CyLIECTBUTEILHOIO:

1. Mmoxxetr ObITh mojuIekammm: €. §. Reading books is always interesting. -
UreHne KHUT BCETJla UHTEPECHO.

2. T'epyHauto MOXET IPEAIIECTBOBATh MPEIJIOT, U B 3TOM CiIy4dae TepYyHIIH
MOJKET OBITh JOMOJHEHHUEM, ONpeieicHreM i oOcTosTenbeTBoM: €. g. | think of
going to South this year. - S nymaro moexaTth Ha OT B 3TOM Troay (momnosHeHue). There
are different ways of solving the problem. - CymectByroT pasmudHbie CHOCOOBI
pemeHust 3toi npobiiemsl (onpenenenue). We translated the text without using a
dictionary. - Ml iepeBenu TEKCT, HE MOJIb3YACH CIIOBApEM (0OCTOSTEIBCTBO).

3. I'epynauit MOXeT ObITh MPSMBIM JOMOJTHEHUEM U YacThbiO ckazyeMoro: €.(d. |
like reading books. — I mo0mio urenne kaur. My hobby is readig books. — Moe
X000U YTCHHE KHUT.

4. T'epyHAul MOXKET OMNPEACIATHCS NPUTHKATEILHBIM MECTOMMEHUEM WU
CYIIIECTBUTEILHBIM B MPUTSHKATEILHOM WU 001em majexe. CodeTaHue TepyHaus ¢
MPEIIECTBYIOIUM €My MECTOMMEHUEM WJIA CYIIECTBUTEIBHBIM HA3bIBACTCS
repYHIUAIBHBIM 000pOTOM. ['epyHIuanbHbIi 000POT MEPEBOAUTCS HA PYCCKUM S3BIK
MPUJATOYHBIM  TMPEIJI0KEHUEM, T/€ CYUIECTBUTENIbHOE (WM MECTOUMEHUE)
COOTBETCTBYIOT CYIIECTBUTEILHOMY WJIM MECTOMMEHHIO B (YHKLUHU MOJIEKAILIETO, a
repyHInui — Tiaroiy-ckasyemomy: €.g. There was no hope of his coming back in time.
— He Obu10 HaAEXK Bl HA TO, YTO OH BEPHETCS BOBPEMSI.
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IepyHnauii 06s1aaeT cie1yIOMMMH IJIAT0JIbHBIMY NPU3HAKAMM:

1. MoxeTr uMeTh mpsiMOe JIOTIOJTHEHHE M OIIPENeNaThesl HapeuueMm: e.g. | don’t
like reading aloud. — 51 He 11000 YMTATH BCIYX.

2. Nmeer crnegyromiue ¢GopMbl BpEMEHH U 3aJ10Ta:

Bpewms 3anor

Active Passive
Indefinite doing being done
Perfect having done having been done

DOYyHKUMHU TEPYHNINS B IPEIIOKECHNMN

1. momtexamee: €.g. Reading is my hobby. Urenne — moe xo060w.

2. nononaenue: €.9. I’m fond of reading. 41 mo06:1r0 ureHue.

3. UMCHHOM YacCThIO COCTAaBHOIO HMMEHHOIrO cKasyemoro: e.g. Hergreatest
pleasure is reading. Ee camoe 6oibiiioe ya0BOJIBCTBUE — YTCHHE.

I'epynauii ynorpe0Jisiercsi B ClIeAyIOIIUX KOHCTPYKIMSAX:

1. There is (was) no + repynamii + smth: There is no hiding these facts. - Dtu
(bakKThl HE CIIPSYETIID.

2. to be worth (hate) + repynamii + smth: The picture is worth seeing. - ®uieMm
CTOHUT ITOCMOTPCTh.

3. (can) avoid (afford, stand, help, want) + repynauii + smth: I can’t avoid speaking
to her. — S He Mor u30ekaTh pa3roBopa ¢ Hel.

4. to give up + repynauii + smth: | can’t give up smoking. I He Mory 6pocuTh
KYpPHTh.

5. on (after, before, by, without) + repynamii + smth: He left without saying a
word. OH y1ién, He TOBOps HH CJIOBa.

6. to begin (start, go on, continue, stop) + repynauii + smth: He goes on painting
even after having lost his sight. — On npogomkaeT pucoBarh axe Mocie MoTepH
3pCHHSI.

7. mocne riarosos: to avoid, to enjoy, to require, to mind, to mention, to suggest,
to like, to prefer, to go, to come, to start, to finish, to intend, toremember u ap. Hamp:
| enjoy going to football matches and can’t stand watching the matches on TV. -
MOJIy4ar0 yIOBOJBCTBUE, KOT/Ia XO0KY Ha (yTOOJbHBIE MaT4d, U TEPHETh HE MOTY
CMOTPCTh MAT4YH I10 TCIICBHU30DPY.

§ 12. BCIIOMOT' ATEJIBHBIE T'JIATOJIBI (AUXILIARY VERBS)

BcnomoraresibHbIe TJIAarojibl - 3TO TJIArojibl, C IOMOIIBIO KOTOPBIX
00pa3yroTCs CIOXKHBIC TiaroyibHbie (GopMbl. BemoMoraTenbHbIC IIarojbl HE UMEIOT
CBOET0 CaMOCTOSITEJIbHOTO JICKCHUECKOTO 3HAYEHHUS W CIY)XKAT JIMINb [OKa3areieM
BPEMCHH, 3aJ10Ta, HAKJIOHEHUS U B HEKOTOPBIX CIydasx - JIMIA U YHCIa CMBICIOBOTO
rnarona. K BcmomorarensHbIM TJ1aroiaM oTHocsaTes riarossl to be, to have, to do,
shall, will, should, would. T'maronsr to be, to have, shall, should, will, would
yInoTpeOJIsIOTCS B MOJAIBHOM 3HAYCHHH, a ri1aroiisl to be, to have, to do, kpome toro,
yIOTPEOJIAIOTCA KaK CMBICIOBBIC TJIarosibl. BcrmomorarenbHbIE TIarojbl 4acTo HeE
nepeBoAsaTcs. OHU UMEIOT CJICAYIOIINE COKpaIlleHHbIC OTpUIlaTeNIbHbIe (GOPMEI: aren't,
iIsn't (Ho am not), haven’t, hadn’t, don’t, doesn’t, didn’t, shan’t, won’t, shouldn’t,
wouldn’t.
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§ 13. MOJAJIBHBIE T'JIAT'OJIBI (MODAL VERBS)

MoaajibHble IJ1aroJbl BbIPAXKAOT HE JEHCTBUE, 4 OTHOIICHUE K JIEHCTBUIO
(BO3BMOXKHOCTh WJIM HEBO3MOXHOCTH €0 COBEPIIUTH), MOATOMY TMOCJIE MOJATbHBIX
IJ1aroJIoB CTOMT OCHOBHOM TJIATOJI, BBIPAXAIOIIMKA JEHUCTBHUE, B HEONPEACICHHOU
dbopme 6e3 yacTulibl to.

MopanbHbIE TIaroiabsl He U3MEHSFOTCS 10 JIUIaM, HE UMEIOT HETMYHBIX (hopMm;
WH(UHUTHUBA, TEPYHAUSI U Tpudactus. BompocurenbHas U oTpuliaTesnbHas (HOpMbl
ATHUX TJIaroJioB o0pa3yroTcs 0e3 BCOMOraTeIbHOTO IJiaroyia. B Bompoce MoganbHbIH
TJIaroJI CTABUTCS TIepeT Mo iekamuM. B oTpuriarensHOM hopMe gacTriia not CTaBUTCS
cpa3zy Mocje MOJaJbHOIO raaroiia. [ aros can u oTpunaresibHas YacTULIA NOt MUITYTCS
cimtHO (cannot). Hamp: Can you do it? Must | do it? No, I cannot do it.

B aHrnuiickom s3bIKE CYIIECTBYIOT CIEAYIONIME MOJAJbHBIE TJaroJipl: can,
may, must, should, ought to, need, would, shall, will, dare. MoxansHbIe T1ar0JIBI
HMMEIOT CJICAYIONINE COKpallleHHbIE OTpHUIlaTeIbHbIe (opMbl: can’t, couldn’t, mustn’t,
mightn’t. MogansHbIe r1aroisl Can, MUST, May UMEIOT YKBUBAJICHTHI.

3HavYeHne MOJATbHBIX TJIar0JIOB OKBUBAJICHTHI MOJIAJIbHBIX TJIAT0JIOB
can - MO4b, YMETh T
]
must - JOJKEHCTBOBATh, 00s13aH T
HY’KHO, HEOOXOITUMO )
b
may - MO4Yb, UMETh pa3peIICHUE To be allowed to - umeTh pazpeiieHue

MOIAJIBHBIE TI'JIAI'OJIBI H UX IIEPEBO/

['maron [lepeBoguTcs [Tpumepsbl
Can MOYb, YMETH H
©H MOXET YNTaTh NO-aHIIIMHACKH.
May MOUYb, uMethb | He may take the book.
paspelieHue OH MOET B3SITh 3Ty KHUTY.
Must noipkeHceTBoBaTh | I must do this work today.
S MOKEH BBITIOJIHUTD 3Ty pabOTy CEroJTHS.
Should CIIEYET, You should write the article.
JOJDKEHCTBOBATh | Bam ciieyeT HamumcaTh 9Ty CTaThlo.
Need HY)XHO, We need your help.
HaJI0 Hawm Hy)XHa Ballia TOMOIIIb.
Ought to cienosaiio  Obl, | You ought to do it at once.
CIIeAyeT Bawm ciemoBasio ObI clienarh 3TO cpasy ke.
Would XOTETh, He said he would take me to the office.
KEJIaTh OH cka3zaJ, 9YTo X04YeT OTBE3TH MEHsI B o(uc.
Shall JTOJKEH, When I speak, you shall listen.
00s1i3aH Korna st roBopto, Thl 00s13aH CJIYILIATh.
Will Kesarh, I will not (won't) go to school today.
HaMepeBaThCs S He Kenaro CeroJHs UATH B IIIKOIY.
Dare CMETb, How dare you come here!
OTBaKUTHCSI Kak TbI cMeels mpuxoauTh crona!
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CAN - umeer 3HaUYC€HHE «MOYb, YMETh, 001a1aTh GU3UIECKON UM YMCTBEHHOU
CIIOCOOHOCTBIO, YMEHHEM BBITIOJIHATH JICUCTBUE», BBIPAKEHHOE WHOUHUTHBOM
rjaroJya, ¢ KOTopsiM couetaercs can. Hamp: | can swim. — $I ymeto riaBate. He can
speak English. — On ymeer roBoputh mo-anrimiicku. Can | speak to the chief? —
Mory st noroBopuTs ¢ HauaabHIUKOM? Can Ann say it? — Heyxenu 310 AHHa rOBOpUT?

['maron can umeet Gopmy nporienaiero BpeMenu could u s3xkBUBasIeHT

to be able to - OwbiTe B cocrossHMM. OH TpeOyeT HadW4YUs YacTUIBI tO B
CJIeyIolEeM 3a HUM HH()UHUTHUBE U YHOTpPeOIsIeTCs BO BCEX BHJIO-BPEMEHHBIX
dbopmax.

Hanp: He is (was, will be) able to come in time. On mMoxeT (cMor, CMOXeT)
puexaTb BOBpEMs.

MAY wumMmeer 3HaueHHE «pa3pelIeHHs, BO3MOXHOCTH, HPEIIOIOKEHUS,
COMHEHWsI, HEYBEpEHHOCTH, BEIpAXKECHUS yIpeka, 3ameuanusi». Hanp: He might get the
tickets for the concert. - Bo3amo»HO, OH KyIuT OMJICTH Ha KOHIIEpT. May we use the
dictionaries? - MoXHO HaM IOJIb30BaThcs clioBapsimu? — Yes, you may. — Jla,
M0>kHO. No, you may not. — Hert, Henb3s (BexuBbIi oTka3). No, you mustn’t. — Her,
Henb3sl. (KareropmyHoe 3ampeiieHue). [nmaron may umeer (opmy Mpolieamero
POCTOTo BpeMeH! might u skBUBajeHT to be allowed to - pa3periats, KOTOPBI MOXKET
yIOTPeOIATHCS BO BCEX BPEMEHHBIX (hopmax B 3ToM 3HaueHuu. Hamp: He is (was, will
be) allowed to stay here. EMy pa3pemrarot (pa3peniim, pa3pemniar) 0cTaTbes 3/1eCh.

MUST  BeIpaxkaer «HEOOXOAMMOCTb, MOPAIbHYIO  OOSI3aHHOCTB» U
COOTBETCTBYET B PYCCKUM CIIOBaM <«JIOJDKEH, HYKHO, Hajo». Hapsgy c must
ynoTtpebsstores to have to (mpuxoauTtcsi, BBIHYXJEH), to be to (momxeH, o0s3aH,
COTJIACHO JIOTOBOPY, YKa3y, IOCTaHOBJIEHHUIO, PACTIMCAHUIO) BO BceX BpeMeHax. Hamp:
| must hurry to catch the last train. I momkeH ToOpomUTHCS, YTOOBI yCIIETh Ha
nocieaHuit nmoesn. The student are to attend classes. — CTyIeHTBI JOJKHBI TOCENIATh
BCE 3aHATUSA (COTJIACHO YCTaBYy).

§ 14. JUYHBIE MECTOUMEHUA

HUmenumenwvuwiii Oo0vexkmmubwlil naoedsic
Yucno Juyo
naoejic
IMoane:xkaiee,
MMEHHAs YacTh
JlomosiHeHue
CKa3yeMoro
[Ipsamoe Kocsennoe
KTO? 4TO? Koro? 4ro? Komy? yemy?
Enuncreennoe | 1-e I i me MEHS | MHE
2-¢ you ThI you TeOs | Tebe
OH, hi
. im her N .
3-¢ he, she, it | ona, it € ero, e€ | emy, e
OHO
MHOXECTBEHHO
o 1-¢ we MBI us Hac HaMm
2-¢ you BbI you Bac BaM
3-¢ they OHH them ux UM
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§ 15. YKAZATEJIBHBIE MECTOUMEHUA

1ot — this; 3T — these
Tort — that; Te — those

§ 16. IPUTAKATEJIBHBIE MECTOUMEHUSA

OTHOCHTEJIbHAA a0coJIIOTHAA
dopma dhopma

MO my mine

TBOM your yours

€ero his his

eé her hers

ero its -

Hala our ours

Balll your yours

X their theirs

§ 17. BOIPOCUTEJbBHBIE MECTOUMEHUS U HAPEYUSA

Kto? who?

Komy? whom?
Kakoii? what (+noun)?
Kakoii, koTopsIii u3 ..? which?

Yeii? whose?

Yro? what?

['me? where?

Korna? when?
[Touemy? why?

Kaxk? how?

Ckomnpko? how many ..? (how much ..?)

§ 18. CTEIEHA CPABHEHUA MPUJIATATEJIBHBIX 1 HAPEYMIA

HONI0MCUMENbHAA | CPAGHUMENbHAA | RPEBOCXO0OHAS
Oonocnosxcrvie

u  HeKkomopwle | -€r -est
08YC10)iCHbLE

long longer (the) longest
MHO20CNI0)CHble | MOTE ... (the) most ...

: : the most
Important more Important important
UCKTII0YeHUS

good, well better (the) best

bad, badly WOorse (the) worst
much, many more (the) most
little less (the) least
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§ 19. CBOJHAS TABRJIMLIA HECTAHJIAPTHBIX IVIATOJIOB

Infinitive | Past Participle | IlepeBoa
Indefinite | 11

to be was, were | been OBITh

to become | became become CTAHOBHUTHCS

to begin began begun HAYMHATHCS

to break broke broken JIOMaTh

to bring brought brought IPUHOCHUTD

to build built built CTPOHTH

to buy bought bought MTOKYTIaTh

to come came come PUXOIUTH

to cost cost cost CTOUTDH

to do did done JIeNIaTh

to eat ate eaten KylIaTh

to fall fell fallen rnajaarhb

to find found found HAXOJIUTH

to fly flew flown JeTaTh

to forget forgot forgotten | 3a0ObiBaTh

to get got got 10JIy4aTh, JOCTABATh

to give gave given JIaBaTh

t0 go went gone WTU

to have had had UMETh

to hear heard heard CIIBIIIATh

to keep kept kept JIep)KaTh, XPAHHUTh

to know knew known 3HATh

to leave left left OCTaBJIATH, IOKAIATE

to make made made JIeIaTh

to meet met met BCTpeYaTh

to put put put KJIaCTh

to read read read YUTATh

to ring rang rung 3BOHHTH, 3BEHETh

to run ran run OeXKaTh

to say said said TOBOPHTH, CKa3aTh

to see Saw seen BUJIETb, CMOTPETH

to send sent sent MOCBLJIATh

to sing sang sung NeTh

to sit sat sat CUJIETH

to speak spoke spoken TOBOPUTH

to spend spent spent TPATUTh

to stand stood stood CTOSTh

to swim swam swum J1aBaTh

to take took taken Opatb

to teach taught taught YYUTh

to tell told told paccKa3bIBaTh

to think thought thought JyMaTh

to write wrote written MIHICaTh
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WORD BANK
Aa

accelerate - yckopsTh, pa3roHsTh

accelerator pedal - megans mogaun TorIMBA, MEAANTL YIIPABICHUS APOCCEIBHOM
3aCJIOHKOMN

aCcCess — JOCTyII

accessory - BCIoMorareibHOe YCTPOUCTBO

achieve — mocturath

adjustment — perynupoBka, HajiaaKa

all-wheel drive - momHbII TPHBO.T

angle - yrou

assembly - coopka; arperaT; KOMILJICKT

axial thrust - oceBas Harpy3ka

axle — ocw; MocT

axle shafts — momyocwu

Bb

balance weight — npoTtuBoBec

ball bearing cams - Kyna4ku MapUKOIOIINITHIKA
band brakes - nenTounsle TOpMO3a

bearing — moAmumHUK

blower - kommpeccop, HarHeTaTe b

body — ky3oB

brakes are applied - Topmo3a cpabaThiBarOT

brake free-wheel - Topmo3snast mydTa cBoOOAHOTO X0/1a, 0OTOHHAs My Ta
braking force - Topmo3HoOe ycuime, cuita TOpMOKESHHUS
breather - canyn

bring into contact — coequusaTh

bring into operation - nmpuBecTH B AeicTBUC

bring the shoe into contact — coeHUTH KOTOAKY

Cc

caliper — u3MepsTh MTaHTSHIUPKYJIEM WIA HYTPOMEPOM

car wheels - koseca aBToMoOuIIS

centrifugal clutches - ciiernenne EHTPOOESIKHOTO TUTIA

chain — ens

channel section - mBesep

coasting - 1BMKEHUE HAKATOM, ABHIKCHHUE 110 HHEPIHH

coil spring live axle - Bemymuit MOCT ¢ IPY>KUHHBIMH PECCOPAMHU

conical shape - konuueckas hopma

conventional splitter — pa3naTouyHast KopoOKa, CTaHIAPTHBIN MEPEKITIOYATEITb
JMana3oHa nepenayv

couple - coeaquHSATH, CLEIUIATH

crane carrier - aBTokpaH

crankshaft - koneHuatbIil Ba
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Dd

develop - pa3pabaTbiBaTh, COBEpIIICHCTBOBATH
device - ycTpoiicTBO

diaphragm spring - npy>xuHa quadgparMeHHOTO THIIA
differential - tuddepeniman

disc brakes - nuckoBbie TOpMO3a

disengagement - oTkIr0ucHHE

dog clutch — kymaukoBas mydTa

drawback - megocTarok

drive - mpuBoJ

driven plate - Begomblii quck

driving safety - 6e3onmacHOCTb BOXKICHUS (JIBHYKSHUS )
drum brakes — 0apabanHbIC TOpMO3a

dumper — camocBai

Ee

ease of maintenance — yierkocTh TEX00OCTYy)KUBaHUS
emergency situation — aBapuiiHas CUTyanus

enable — nenaTe roAHBIM, ITO3BOISATE

engage — COeIUHSTh

engagement - 3amerieHue

engine — 1BUraTelb

engine output - BeIXOIHASE MOIITHOCTH JIBUTATEJIS
evaporative emissions — BBIXJION ra30B HCIIAPCHUS

Ff

fan belt - pemens BeHTHISITOPA

fenders - kpbuTEs

final drive — rnaBnas nepenayva

fine finish — umcroBas oOpadoTKa, 1OBOIKA
finger - masyren;, udT

fire crash tender - moxxapHas TexHHKa

flat position - mmockoe nosoxeHne
flexibility - ruOkocTh

flywheel - maxoBuk

foul the engine - 3arps3HsATH HBUTATEIH
four-wheel drive - momHbIi ipUBOX

frame — pama

free (disconnect, disengage) — oTcoeIuHATE, pa3beIUHATh
friction clutch - ¢ppuknnonHoe crierieHue
friction pad — ¢dpukironHas HakIaaAKa
front suspension - mepeaHss MoABECKA

fuel consumption - pacxos TormBa

fuel vapors — naps! TorumBa

fulcrum — Touka omopsl, Ock IIaApHUPA
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Gg

gas (oil) mileage — mpober B MUJISIX Ha TajlIOH M3PACX00BAHHOIO TOILIMBA
gas cap — KpbIIIKa HATMBHOM FOPJIOBHHBI TOIUIMBHOTO Oaka

gearbox - xopoOka nepegad

gears - mecTepHu

generator — reneparop

get rid of - uz6aBuThCs (OT Yero-1ubo)

Hh

head lamp flasher — npo6eckoBeIit IpepriBaTeNb cBeTa hapbl
heat-dissipation - paccesiare (0TBO) TeIuIa

heater — oTonuTeabHOE YCTPOKCTBO

hoist — mogBEeMHBIA MEXAHU3M, I1I0IBEMHUK

hood - kamot

horn - cupeHa, 3ByKOBO¥ CHUTHAI

hydromantic converter - rugpotpanchopmarop

ignition— 3axuranue

impeller — nacocHoe KoJieco

indicator lever - ppryar HHAMKATOPA, YKa3aTes

inhibitor — uHrHOKMTOp, 3aMeIUTEH

inner portion — BHYTpEHHSS YacTh

inner shaft - Bexymmii (mpuBOHOM) Bas

input shaft - nepBuuHbIi Ban

instrumental panel — mpuOopHBIA MKUTOK, MyIBT YIPABICHUS
integral clutch and brake unit - 06beMHEHHBIH OJIOK U3 CLEIUIEHHUS U TOPMO3a
intend — nmpeHa3HAYATh

internal combustion engine — qBurarenb BHyTPEHHETO CTOPAHHSI

Kk

kick - ymap, Tomdok
knob — xHomka

LI

laboratory test - cren0BbIC UCTIBITAHUS

leading shoes — Bexyine TOPMO3HBIC KOJIOAKH

leaf spring - nucroBas peccopa

level - ypoBenn

lever - pykosiTka (peryar)

lights - dapsr

lining — naknaaku, oOMBKa

link - coequasaTs

load deflection — mporu6 mox aeicTBHEM HArpy3Ku
loader - aBTomorpy34nk
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lock-up clutch — 6mokupoBouHas mydTa

lose of clamp load — moteps (ocnabnenne) c:xuMaroIIel Harpy3Ku
lower gear - moHmwxkaroras nepenada

lubricate — cmassiBaTh

lug - kpoHIITEHH, 3aKUM, KyJIaK

Mm

machine tool — cranox

maintenance - TeXHUYeCKOe 00CTyKHBAHHE U PEMOHT

malfunction - HercrpaBHOCTD

manual override — pydHOEe YyIpaBJICHHE aBTOMATHYCCKH YIIPABISICMOMH
CHUCTEMOU

manufacture - mpou3BoIUTH

meet up-to-date requirements — oTBe4aTh COBPEMEHHBIM TPEOOBAHUSM

multiple-speed gearbox — MHorocTyrneH4aTas KOpooka CKOPOCTEit

Nn

natural bias - ecrecTBeHHBIC CMEIICHHS (CABUTH)
Oo

obtain — moyry4ath, JOOUTHCS

octane rating — oKTaHOBOE YKCIIO

off-road travel - e31a mo 6e310pOXKBIO

oil circuit - 3aMKHYTBIH TOTOK Maciia

one-way free-wheel — ogro3axonnas mydra

operating cylinders - pabouyune HUITUHAPHI

outer shaft - BeIxoaHO#M (BTOPHUHBIN) BaJl

overload safety valve - mpenoxpaHuTenbHbIN KiIanaH MpyU Ieperpy3Ke
OVerrun - mpeBbIIICHHEe HOPMAIbHOW CKOPOCTH

Pp

park brake - mapkoBOYHBIN (CTOSHOYHBIN) TOPMO3
performance - pabouast xapakrepuctuka, KI1/]

permit — mo3BoJIsTh, JaBaTh BO3MOXKHOCTh

pivot - ock BpallleHus, IapHUP, TOBOPOTHBIN IITKBOPEHb
pOSSess - o6aagaTh, UMETh

power output - BbIXOgHAst MOIIHOCTH

power plant - cumoBoii arperar

power train — cuioBas nepenava (TpaHCMUCCHS)

power-shift gearbox — kopoOka nepekiroueHus nepeaay
pre-determined engine speed -pacueTHbie 000POTHI ABUTATENS
pressure plate — HakUMHO#M TUCK

prevent - mpegoTBpariaTh

propeller shaft — xapmannbIit Ba

propulsion output - MOIITHOCTE CHIOBO# YCTAHOBKH (JIBUTATEIIS)
provide — obecrieunBaTh

push down on the pedal — naxxumath Ha menab
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Qq

questionnaire — ompoc
quiet-running power unit - GeciryMHbBIN CHIIOBOM arperat

Rr

rack and pinion steering - pysieBoii MexaHH3M C PEHKOW U IICCTEPHEH, peeUHOe
yIIpaBJICHUEC

rapid - OpICTpBIit

ratio — COOTHOIIICHHUE, TEPEIATOYHOE YUCIIO

reaction member — peakTHUBHBII JIEMEHT

rear axle — 3aguuii Moct

rear suspension - 3ajiHss MOJBECKa

reduce - cokpaiarb, MIOHUXKATh

reinforce - ycunusarthb

release - pa3beauHeHNE, pacleIICHUE

release lever — peryar oTKIIFOUEHUS (OTCOCTUHEHUS )

relief valve - mpenoxpaHuTenbHBIN Ki1amaH

require — tpeboBaTh

restrict — orpaHu4YMBaTh

retaining ring - yaepsxuBaroriee (CTOIOpPHOE) KOJIbIO

retard - 3ameUIATh, TOPMO3UTH

reversing gearbox — xopoOka niepeay 3aiHEro X0/1a, PEBEPCUBHBINA MEXaHU3M

rigid - »x&ctkwuii

rim - 06011, 3y0uaThiii BEHEIl

rivet - 3aknénka

rubber pad — pe3uHoBas mpokiaaka

Ss

separating clutch - pa3penunstomas mydra

shock absorber — amoprtuzatop

shoes - ko1oaKu (TOPMO3HEIC)

single row engine — psiaHBIM ABUTATEIb (PAAHOE PACTIONOKECHUE [IMIHH/IPOB)

skid-steer drive system — cucTema ympaBlieHHUs, MpeIyCMaTpUBAOIIAs
POCKaJIb3bIBAHUE KOJIEC

slot — ma3, kanaBka

smooth-acting cluth - maBHOe cremeHue

smooth engagement - miaBHOE BKJIFOUYCHHE

spare wheel - 3ammacHoe kojeco

spiral bevel differential - quddepennuan ¢ KOHHIECCKUMH MECTECPHIMU

Springs - peccopsbl, MPYKHHBI

steering system - cuctema pyJeBOro yrpaBJieHUs

steering wheel - pyneBoe xoseco

strengthen - ykpemsathb

suspension member - 3J1eMeHT O IBECKH

synchromesh gearbox - kopoOka repeiay ¢ CHHXpPOHH3aTOPOM
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Tt

tailpipe - xBocToBas 4acTh; BHIXJIOMHAS TPyOa

thrust assembly - TsroBEI y3en

torque - kpyTAImmui MOMEHT

torque capacity — Hecymas CriocoOOHOCTh MepeIavn Mo KPYTAIIEMY MOMECHTY

torque converter - npeoOpa3zoBaTeib KPYTSILLIETO MOMEHTA,
THIIPOTpaHchopMaTop

tracked - ryceHn4HOE TPAaHCIOPTHOE CPEIICTBO

tractive effort — tsarosoe ycunue, cuna Tsru

tractive unit - TaroBeIit arperaTt

traffic lights — cetodop

trailing shoes - Bexgymire BTopruHbBIE TOPMO3HBIE KOJIOAKH

transfer gearbox - paszgarounas kopoOka

transmatic torque converter - aBTOMaTHYECKUI MpeoOpazoBaTeIh KPYTSIIETO
MOMEHTa

truck — rpy3oBuk

twists - moBopoTHI

two-speed WIpers - IByXCKOPOCTHBIE CTEKIIOOYUCTHTEIN

Uu
units and mechanisms - y3ibl (arperaTsl) ¥ MEXaHHU3MBI

Vv

valve - knanan
vehicle - TpaHcOpTHOE CPEACTBO, aBTOMOOHIIH
V-type engine - V-00pa3HbIii IBUraTeIb

Ww

wear — M3HOC, aMOPTH3aITUs

weld - cBapka

wheeled vehicle - kojecHOe TpaHCIIOPTHOE CPEICTBO
wheels - koneca

windshield wipers - crekiioouncTUTETN BETPOBOTO CTEKIIA
work out — pa3pabaThiBaTh
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VYuebHoe u3ganue

[Tonienait CBetnnana HukonaeBHa
Bacpkuna Tatesana IBanoBHa
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